## E-TENDER DOCUMENT

## NAME OF THE WORK:

"Repair and renovation of Visitors Toilets in New Building, Staff toilets in office block and Guest Rooms at Regional Science City, Lucknow."

TENDER INVITING AUTHORITY

National Science Centre
Near gate No. 4, Pragati Maidan
Bhairon Marg, New Delhi – 110001
(A unit of National Council of Science Museums)





NATIONAL COUNCIL OF SCIENCE MUSEUMS

# INSTRUCTIONS TO THE TENDERERS/BIDDERS FOR E-SUBMISSION OF BIDS ONLINE THROUGH E-PROCUREMENT SITE <a href="https://eprocure.gov.in/eprocure/app">https://eprocure.gov.in/eprocure/app</a>

This tender document has been published on the Central Public Procurement (CPP) Portal (URL: <a href="https://eprocure.gov.in/eprocure/app">https://eprocure.gov.in/eprocure/app</a>). The tenderers/bidders are required to submit soft copies of their bids electronically on the CPP Portal, using valid Digital Signature Certificates (DSC). The instructions given below are meant to assist the tenderers/bidders in registering on the CPP Portal, prepare their bids in accordance with the requirements and submitting their bids online on the CPP Portal. More information useful for submitting online bids on the CPP Portal may be obtained at: <a href="https://eprocure.gov.in/eprocure/app">https://eprocure.gov.in/eprocure/app</a>

#### REGISTRATION

1) Tenderers/bidders are required to enrol on the e-Procurement module of the Central Public Procurement Portal (URL: <a href="https://eprocure.gov.in/eprocure/app">https://eprocure.gov.in/eprocure/app</a>) by clicking on the link "Click here to Enrol" on the CPP Portal. Enrolment is free of Charge.

As part of the enrolment process, the tenderers/bidders will be required to choose a unique username and assign a password for their accounts.

Tenderers/bidders are advised to register their valid email address and mobile numbers as part of the registration process. These would be used for any communication from the CPP Portal.

Upon enrolment, the tenderers/bidders will be required to register their valid Digital Signature Certificate (Class II or Class III Certificates with signing key usage) issued by any Certifying Authority recognized by CCA India (e.g. Sify / TCS / nCode / eMudhra etc.), with their profile.

Only one valid DSC should be registered by a tenderer/bidders. Please note that the tenderers/bidders are responsible to ensure that they do not lend their DSC's to others which may lead to misuse.

Bidder then logs in to the site through the secured log-in by entering their user ID & password and the password of the DSC / e-Token.

#### SEARCHING FOR TENDER DOCUMENTS

- (a) There are various search options built in the CPP Portal, to facilitate tenderers/bidders to search active tenders by several parameters. These parameters could include organization name, location, date, value, etc. There is also an option of 'Advanced Search' for tenders, wherein the tenderers/bidders may combine a number of search parameters such as organization name, form of contract, location, date, other keywords etc. to search for a tender published on the CPP Portal.
- (b) Once the tenderers/bidders have selected the tenders they are interested in, they may download the required documents / tender schedules. These tenders can be moved to the respective "My Tenders" folder. This would enable the CPP Portal to intimate the tenderers/bidders through SMS / e-mail in case there is any corrigendum issued to the tender document.
- (c) The bidder should make a note of the unique Tender ID assigned to each tender, in case they want to obtain any clarification / help from the Helpdesk.

#### PREPARATION OF BIDS

(a) Tenderer/bidder should take into account any corrigendum published on the tender document before submitting their bids. Please go through the tender advertisement and the tender document carefully to understand the documents required to be submitted as

part of the bid. Please note the number of covers in which the bid documents have to be submitted, the number of documents - including the names and contents of each of the documents that need to be submitted.

- (b) Bidder, in advance, should get ready the bid documents to be submitted as indicated in the tender document / schedule and generally they can be in PDF / XLS / RAR / DWF formats as mentioned. Bid documents may be scanned with 100 dpi with black and white option.
- (c) To avoid the time and efforts required in uploading the same set of standard documents which are required to be submitted as a part of every bid, a provision of uploading such standard documents (e.g. PAN card copy, annual reports, auditor certificates etc.) has been provided to the tenderers/bidders. Tenderers/bidders can use "My Space" area available to them to upload such documents. These documents may be directly submitted from the "My Space" area while submitting the bid just by tagging and need not be uploaded again and again. This will lead to a reduction in the time required for bid submission process.

#### SUBMISSION OF BIDS

- 1) Tenderer/bidder should log into the site well in advance for bid submission so that he/she up loads the Bid in time i.e. on or before the bid submission time as per the system. Bidder will be responsible for any delay due to other issues.
- 2) Tenderer/bidder has to digitally sign and upload the required bid documents one by one as indicated in the tender document.
- 3) The Tender Inviting Authority (TIA) will not be held responsible for any sort of delay or the difficulties faced during the submission of bids online by the tenderers/bidders. The bidder should see that the bid documents submitted should be free from virus and if the documents could not be opened, due to virus, during tender opening, the bid is liable to be rejected.
- 4) The tenderer should furnish duly signed Bid Securing Declaration as per the format given in Annexure "C" and upload along with technical bid of the tender.
- Tenderers/bidders are requested to note that they should necessarily submit their financial bids in the format provided and no other format is acceptable. The price bid has been given as a standard Rate Quote Sheet (Percentage BoQ Template) in .xls format with the tender document, which is to be downloaded and to be filled by all the tenderers/bidders. Tenderers/bidders are required to download the Rate Quote Sheet (Percentage BoQ Template) file, open it and complete the blue colored (unprotected) cells with their respective financial quotes and other details (such as name of the Tenderer/bidder). No other cells should be changed. Once the details have been completed, the tenderer/bidder should save it and submit it online, without changing the filename. If the Rate Quote Sheet (Percentage BoQ Template) file is found to be modified by the tenderer/bidder, the bid will be rejected. In e-Tendering, intending tenderer/bidder can quote their rate in figures only. The total amount is generated automatically. Therefore, the rate quoted by the tenderer/bidder in figures shall be taken as correct. The Comparative Statement is also generated automatically by the system. The Comparative Statement and rate quoted by each tenderer/bidder shall be downloaded. The manual calculation check of tenders/bids and Comparative Statement, shall be final. In case, any discrepancy is noticed, the decision of appropriate NCSM authority shall be final and binding.
- 6) The server time (which is displayed on the tender's/bidder's dashboard) will be considered as the standard time for referring the deadlines for submission of the bids by the tenderers/bidders, opening of bids etc. The tenderers/bidders should follow this time during bid submission. The tenderers/bidders are requested to submit the tenders/bids

- through online e-tendering system to the **Tender Inviting Authority** (**TIA**) well before the bid submission end date & time (as per Server System Clock).
- 7) All the documents being submitted by the tenderers/bidders would be encrypted using PKI encryption techniques to ensure the secrecy of the data. The data entered cannot be viewed by unauthorized persons until the time of bid opening. The confidentiality of the bids is maintained using the secured Socket Layer 128-bit encryption technology. Data storage encryption of sensitive fields is done.
- 8) The uploaded tender documents become readable only after the tender opening by the authorized tender/bid openers.
- 9) Upon the successful and timely submission of tenders/bids, the portal will give a successful tender/bid submission message & a tender/bid summary will be displayed with the NIT/tender/bid no. or Name of Work and the date & time of submission of the tender/bid with all other relevant details.
- 10) The tender/bid summary has to be printed and kept as an acknowledgement of the submission of the bid. This acknowledgement may be used as an entry pass for any tender/bid opening meetings.

#### ASSISTANCE TO TENDERERS/BIDDERS

- (a) Any queries relating to the tender document and the terms and conditions contained therein should be addressed to the Tender Inviting Authority (TIA), National Science Centre, Near Gate No. 04, Pragati Maidan, Bhairon Road, New Delhi- 110001 Ph. 011-7428693716-17 Website: <a href="www.nscd.gov.in">www.nscd.gov.in</a> Email: <a href="mailto:nscdl01@gmail.com">nscdl01@gmail.com</a>, <a href="mailto:nscdl01@gmail.com">nscdl01@gmail.com</a>, <a href="mailto:nscdl01@gmail.com">nscdl01@gmail.com</a>, <a href="mailto:nscdl01@gmail.com">nscdl01@gmail.com</a>,
- (b) Any queries relating to the process of online bid submission or queries relating to CPP Portal in general may be directed call to the 24x7 CPP Portal Helpdesk Ph. **1800-3070-2232**.

# NOTICE INVITING E-TENDER (E-NIT)

#### No. NSCD/15014/02/e-tender/09/2024-25 (Civil)

**1.** The **National Science Centre, Delhi** is a constituent unit under the National Council of Science Museums, Kolkata\* (\*hereinafter referred to as the Museum/Centre).

Dated:26.11.2024

2. Online e-tenders (Percentage Rate Bid) are hereby invited from reputed and experienced Engineering/Technical contractors who are also empanelled with Central Government / Central Autonomous Bodies/ State PWD/ Central Public Sector Undertakings/ in any other dept. and capable of carrying out the work of "Repair and renovation of Visitors Toilets in New Building, Staff toilets in office block and Guest Rooms at Regional Science City, Lucknow" with excellent finishing quality.

#### **Eligibility Criteria**

- **3.** The bidder could be an Individual, Limited Company/Corporation, Proprietary Firm, Partnership etc. enlisted/ empanelled with Central Government / Central Autonomous Bodies/ State PWD/ Central Public Sector Undertakings/ or in any other dept. in appropriate category.
- **4.** The Bidder should have the requisite work experience and should have successfully completed similar works/ projects during the last 5 years (the cut-off date will be the date of publication of the tender) as per the details given below:
  - (i) 1 (one) similar work (in Central Government/ Central Autonomous Bodies/ State PWD/ Central Public Sector Undertakings) of aggregate cost not less than 80% of the estimated cost.

OR

(ii) 2 (two) similar works (at least one of them should be in Central Government / Central Autonomous Bodies/ State PWD / Central Public Sector Undertakings) each costing not less than 60% of the estimated cost.

OR

(iii) 3 (three) similar works (at least one of them should be in Central Government / Central Autonomous Bodies/ State PWD/ Central Public Sector Undertakings) each costing not less than 40% of estimated cost.

(Similar works mean: Renovation/ Maintenance/ Construction of building and allied works in Central Government / State Government / Public Sector Undertaking / Railways / MES / Autonomous Bodies of Central/State Governments)

**5.** Bidders should have valid GST Registration, Income Tax PAN Number.

- **6.** Agencies should be Empanelled with **CPWD**/ **State PWD**/ **Railways/MES**/ **other Central Government** / **State Government Departments**/ **or in any other government**/ **semi-government**/ **Banks**/ **public sector dept.** under appropriate class/ category to take up the work of the estimated value.
- **7. The place of work**: Regional Science City, Sector- E, Ekta Vihar, Aliganj Extension, Aliganj Lucknow- 226024.
- 8. Important Information & Dates: -

i. Name of Work	Repair and renovation of Visitors Toilets in New Building, Staff toilets in office block and Guest Rooms at Regional Science City, Lucknow.
ii. Estimated cost of work	Rs. 45,25,525/-
iii. EMD Amount	Rs. 1,13,140/-
iv. Cost of tender document/tender fee	NIL
v. Period of completion of work	(90) Ninety days
vi. Bid Document Publishing Date &	November 26, 2024 (As per portal time)
Time	
vii. Bid Document Download Start Date	November 26, 2024 (As per portal time)
& Time	
viii. Seek Clarification Start Date &	November 26, 2024 (As per portal time)
Time	
ix. Seek Clarification End Date & Time	December 03, 2024 (As per portal time)
x. Bid Document Download End Date &	December 10, 2024 (As per portal time)
Time	
xi) Bid submission Start Date & Time	November 26, 2024 (As per portal time)
xii) Bid submission End Date & Time	December 10, 2024 (As per portal time)
xiii) Bid Opening(Technical) Date &	December 11, 2024 (03.30 PM)
Time	

- **9.** The intending tenderers/bidders must read the terms and conditions of the tender document published by **NATIONAL SCIENCE CENTRE**, **DELHI** carefully. They should only submit their bid if they consider themselves eligible and if they are in possession of all the documents required.
- **10.** Information and Instructions for tenderers/bidders posted on website shall form a part of the bid document.
- 11. The bid document consisting of plans, specifications, schedule of quantities of various types of items to be executed and the set of Terms and Conditions of the contract to be

- complied with and other necessary documents can be seen and downloaded free of cost from <a href="https://eprocure.gov.in/eprocure/app">https://eprocure.gov.in/eprocure/app</a>.
- **12.** Those tenderers/bidders not registered on the website mentioned above, are required to get themselves registered beforehand.
- 13. The intending tenderer/ bidder must have valid Class II or Class III Certificates with signing key usage (DSC) to submit the bid.
- 14. The e-Tenders are invited under two envelopes system. The first electronic envelope will be named as Technical Envelope & will contain documents of tenderer's/bidder's satisfying the eligibility conditions, scanned copies of EMD instrument, tender documents, NIT etc. and the second electronic envelope will be named as Financial Envelope containing Rate Quote Sheet. The bidder shall submit TECHNICAL BID ENVELOPE and FINANCIAL BID ENVELOPE simultaneously. The technical bids will be evaluated first and thereafter financial bids of only the eligible tenderers/bidders who's EMD in physical form is received at National Science Centre, Delhi before date of opening of tenders, shall be opened. These envelopes shall contain one set of the following documents: -

#### a) TECHNICAL BID ENVELOPE shall contain the following documents:

i) Scanned copy of Demand Draft/Pay order or Banker's Cheque of any Nationalised/ Scheduled Bank or any other accepted instrument or RTGS/NEFT transaction details as the case may be towards payment of EMD in favour of NATIONAL SCIENCE CENTRE payable at DELHI in pdf format.

Note: - EMD deposited in other modes than online transfer, has to be drawn or duly pledged in favour of 'National Science Centre, Delhi'. For online direct transaction in the account of NSCD the account details of NCSD are given in the ANNEXURE-I.

The bidders registered with National Small Scale Industries Corporation (NSIC)/ MSME for the Tendered item under single point registration scheme and desirous of claiming exemptions available to such units on EMD, should submit a copy of each of their valid NSIC/ MSME certificate. Bidders claiming exemption of EMD under this rule (170 of GFR) are however required to submit a signed Bid securing declaration as per format given in **Annexure – C.** 

- ii) Scanned copies proof of eligibility as per Clause No. 3 to 6 of NIT whichever is applicable:
  - a) WORK EXPERIENCE CERTIFICATES/ WORK COMPLETION CERTIFICATE along with Work Order/Letter of Intent issued by Govt. / Semi-Govt. /Autonomous/PSUs and/or Reputed Institution of requisite magnitude issued by appropriate Authority as per Clause No. 4 of NIT whichever is applicable.
  - b) Scanned copies of GST registration and PAN Card issued from appropriate authority in .pdf format.
  - c) Scanned copy of Enlistment Order/Registration certificate with appropriate Authority as applicable, in pdf format as per eligibility criteria as per Clause No. 6 of NIT.

- iii) Scanned copy of UNDERTAKING and Declarations as per Annexure "A, B, C, D and E" duly signed with company seal and uploaded in pdf format.
- iv) Tender Document comprising of Conditions of contract and Schedule of Quantities (NIT) along with all its Annexures in .pdf format digitally signed and uploaded as token of acceptance.
- b) FINANCIAL BID ENVELOPE shall contain:
  - i. Rate Quote Sheet (Percentage BOQ Template) in .XLS format. Bidders may quote their percentage rate online in this envelope
- **15.** E-tenders which do not fulfil any of the above conditions or are incomplete in any respect are liable for summary rejection.
- **16.** The Museum/Centre does not bind itself to accept the lowest e-tender/bid and the right to reject or accept any or all the e-tenders/bids; e-tendered items or schedules received without assigning any reason whatsoever.
- **17.** Canvassing in connection with e-tenders/bids is strictly prohibited and the e-tenders/bids submitted by the tenderers/bidders that resort to canvassing will be liable for rejection on that ground alone.
- **18.** E-tenders incorporating additional conditions are liable to be rejected.
- 19. The tenderer(s) must declare in writing that neither he nor any of them is in anyway related to any officer in the National Science Centre, Delhi (National Council of Science Museums, Kolkata), or any of its constituent units as per the format given in Annexure "A".
- **20.** GST, Income tax and Labour Cess etc. or duties on materials, freight & transit Insurance F.O.R. site in respect of this contract will be payable by the successful tenderer and shall be deemed to be included in the rate quoted by the agency. Nothing extra will be payable for increase in such taxes or duties even if imposed or levied either before or after the etenders are opened or during currency of contract.
- **21.** Before submitting the e-tender, the tenderer shall examine all specifications, drawings, conditions of contract and inspect the site if necessary. The e-tender must be balanced in respect of individual items so that the rates quoted shall remain in force even if the quantities deviate (increase or decrease) to any extent before or during the execution of the work. The successful tenderer/bidder shall be paid at their net rate quoted.
- **22.** For the purpose of opening of the e-tenders/bids as described in Clause 14 of the Notice Inviting e-tender, first the Technical Bid Envelope will be opened and after the authority is satisfied that the documents in the Technical Bid Envelope are in order and EMD in physical form is received, the FINANCIAL BID ENVELOPE may be opened, subsequently.

- **23.** It may be noted that the Technical Bid Envelope which are not found in order as per National Science Centre, Delhi (NCSM) requirements may be summarily rejected.
- 24. The selected tenderer will be issued a Letter of Intent by the Museum/Centre and given 7 days' mobilisation time which shall be counted from the date of issue of the Letter of Intent. Within the mobilisation time the tenderer must scrutinise all the working drawings, CPM/PERT/BAR CHART, specifications, etc. and obtains clarifications from the Architect wherever necessary and submits a revised BAR CHART if required by the Museum/Centre. During the mobilisation time, the tenderer shall also mobilise all their resources including men and materials, obtain the supply of water and electricity necessary for construction, erect a temporary cement go-down at site if necessary and sign an Agreement with Museum/Centre in approved format at site on a non-judicial stamp paper of proper denomination. The date of commencement of work shall be the date of issue of Letter of Intent.
- 25. The successful e-tenderer/bidder selected for the work has to deposit the prescribed performance guarantee (i.e. 3% of the tendered amount) and sign the formal agreement within 07 days from the date of issue of Letter of Intent to them by the Museum/Centre failing which their EMD, deposited with tender, is liable to be forfeited.
- **26.** The validity period of the e-tender shall be at least 03 (THREE) months from the date of opening of e-tenders. This period may be extended with mutual consent if the decision regarding issue of Letter of Intent is delayed for any reason.

## Appendix to NIT

#### 1. SUMMARY CONDITIONS OF CONTRACT:

Defect Liability Period	One year from the date of virtual completion as certified by the Museum/Centre or from the date of passing of final bill.
Time for Completion	90 Days from the date of Letter of Intent as per NIT Clause
	8 (v).
Minimum value of work for Interim	One lakh or less at the discretion of the Museum/Centre but
Certificate	not more than one running bill in a fortnight.
Earnest Money to be deposited with	Rs. 1,13,140/-
the e-tender	
Liquidated damages for non-	One per cent per week of the total cost of the work awarded
completion of work in time (Clause	subject to a maximum of 10% of gross value of work done
39 of the general conditions of	or cost of the work awarded whichever is greater.
contract).	
Liquidated damages for insufficient	Half per cent per week of the total cost of the work awarded
progress of work (Clause 39 of the	subject to a maximum of 10% of gross value of work done
general conditions of Contract).	or cost of the work awarded whichever is greater.

## 2. RETENTION MONEY FOR DLP OF 01 YEAR FROM DATE OF COMPLETION OF WORK:

Total		10% as per the following detail-
1 Utal	•	10 /0 as per the following detail-

i. EMD : 2.5% of tendered value (Rounded off to the nearest

hundred) to be deposited on submission of the E-

tender as per clauses 8 (iii) and 14 of NIT.

ii. Performance guarantee : 3% of tendered value (After adjusting EMD deposited

with tender) to be deposited on award of work before signing of agreement through Demand Draft drawn on any Nationalised Bank/Certified Cheque from a Nationalised Bank or insurance surety bond or fixed deposit receipt or bank guarantee or online transaction in the account of NSCD as per

Annexure-I.

Note: EMD and Performance Guarantee (PG) deposited

in other modes other than online transfer, has to be drawn or duly pledged in favour of National

Science Centre, Delhi.

ii. Security deposit : 7 % of the value of work done to be recovered from

R.A. Bills

3. Period of submitting final bill : 03 months from the date of virtual completion by the

successful tenderer.

- 4. ESCALATION CLAUSE : Not applicable
- **5. MATERIALS TO BE ISSUED** (for civil works only): **No material shall be issued departmentally**,
- **6. REMARKS** (for civil works only)

It shall be the responsibility of the successful e-tenderer to erect at site an appropriate shed for proper storage of cement with a capacity for three months' consumption. The stored cement shall be under double lock-with one key in custody of the successful e-tenderer and the other key in custody of the Museum/Centre so that the storage shed can be opened only in presence of both together. It shall be the responsibility of the successful e-tenderer to arrange for electricity and water or any other service required for construction and to arrange for housing of their own staff outside the site.

# INDEX FOR GENERAL CONDITIONS OF CONTRACT

Clause No.	Heading
Introduction	<b>T</b>
1.	Interpretation
2.	Engineer
3.	Scope of Contract
4.	Scope of Work
5.	Inspection of Site
6.	Water, Electricity and Cement Go-
7.	down
	Successful e-tenderer to provide
	Everything Necessary
<b>Drawings &amp; Specifications</b>	
8.	Drawings Designs etc.
9.	Reference Drawings & Shop Drawings
10.	Schedule of Rates and Specifications
11.	Error in schedule of quantities if any
12.	Nomenclature of item
13.	Metric Units
14.	C P W D Specifications and I S Codes
15.	Order of precedence
<b>Materials &amp; Inspections</b>	
16.	Setting out work etc.
17.	Materials
18.	Faulty Materials and Work
19.	Access
20.	Defect Liability Period and Defects
	after completion
21.	Opening of work
<b>Execution of Work</b>	
22.	Work in Subsoil
	Water/Rainwater/Water
23.	Heights
24.	Scaffolding, Centering& Shuttering
25.	Glazing
26.	Wood Work
27.	Site Clearance and Clean up
	- · · · · <b>r</b>
Bill & Payment	
28.	Rates

Name of the work: "Repair and renovation of Visitors Toilets in New Building, Staff toilets in office block and Guest Rooms at Regional Science City, Lucknow."

29.	Quantities
<del>30.</del>	Escalation Clause (Not applicable)
31.	Secured Advance
32.	Retention money
33.	Authorities Notice and Patents
34.	Deviations
35.	Price for Deviations
36.	Measurements
37.	Preparation of Running and Final Bills
38.	Certificates and payments
	1 7
<b>Extension and Compensation</b>	
39.	Time and Damages for non-completion
	of work in time
40.	Extension of time
41.	Suspension of work by Successful E-
	tenderer
42.	Determination of Contract by
	Museum/Centre
43.	Termination of contract by successful
	e-tenderer
44.	Arbitration
45.	Compensation
Miscellaneous	
46.	Work on Holidays
47.	Work Supervisor and Foreman
48.	Dismissal of Workmen etc.
49.	Assignment of subletting or bribes
50.	Other Persons engaged by
	Museum/Centre
51.	Other Agencies Provisional sums
52.	Labour Wages & Regulations
53.	Insurance for Damage to persons and
	property
54.	Notice
55.	Appointment of Apprentices as per
	Apprentices Act
Civil Works only	
56.	Cement & Steel
57.	Regarding weight of materials supplied
	by the Museum/Centre

Name of the work: "Repair and renovation of Visitors Toilets in New Building, Staff toilets in office block and Guest Rooms at Regional Science City, Lucknow."

Return of Steel

58.

**Cement Consumption** 59. Concealed R.C.C. Beams/Lintels 60. 61. Projection 62. **Drip Groove** Plastering on R.C.C. Surface 63. 64. M.S. Reinforcement 65. **Brick Work** Brick Work(s) Heights/Depths 66. 67. Earth Work

### Force Majeure

68. Force Majeure

#### GENERAL CONDITIONS OF CONTRACT

#### 1. INTERPRETATION

The terms as used in the e-tender documents and agreement and named hereunder shall have the meanings herein assigned to them except where the subject or context otherwise requires: -

"This agreement" shall comprise of the Articles of Agreement along with the Appendix, the Conditions of Contract, the Priced Schedule of Quantities, Specifications and Drawings and CPM/PERT/BAR CHART attached hereto and including those to which only a reference is made herein.

"Work" or "Works" shall mean all work or works defined by Bills of quantities, Drawings, Specifications and such other work or works as the successful e-tenderer may be entrusted with for carrying out under this agreement as per Clause 4 of the Articles of Agreement.

"Museum/Centre" shall mean ......National Science Centre, Delhi....... under the National Council of Science Museums which shall include the persons for the time being in management of the Society and its assigns.

"Engineer" shall mean the Curator or Technical Officer authorized as such by the Museum/Centre or in the event of his ceasing to be Engineer for the work such other firm or persons as may be appointed by the Museum/Centre as Engineer for this work. (Further elaboration given in Clause 2 below):

"Successful e-tenderer" shall mean ..... (Name of Successful tenderer)...... and shall include his/their respective heirs, executors, administrators and assigns.

"Site" shall mean the site of the construction works as shown on the site plan attached hereto including any buildings and erection thereon and any other land adjoining these to (Inclusive) as aforesaid allotted by the Museum/Centre for the use of successful e-tenderer.

"Act of Insolvency" shall mean any act of insolvency as defined by the Presidency Towns Insolvency Act, or the Provincial Insolvency Act or any Amending Statute.

"Notice in Writing" or "Written Notice" shall mean a notice or communication in written, typed or printed or printed characters sent (unless delivered personally or otherwise proved to have been received) by registered post to the last known private or business address or registered office of the addressee and shall be deemed to have received when in the ordinary course of post, it would have been delivered. "Virtual Completion" shall mean that the works carried out are fit for occupation in every respect including removal of scaffolding, plant, surplus material and rubbish and cleaning of dirt from work and site. Words imputing persons include firms and corporation's words imputing the singular only also include the plural and vice versa where the context so requires.

Short headlines are given to each Clause for convenience only and they will not limit the meaning or scope of the Clause in any way.

#### 2. ENGINEER

The plans, agreement and documents above mentioned shall form the basis of this agreement and the decision of the said Engineer or the other Engineer for the time being as mentioned in the said conditions, in reference to all matters or dispute as to material and workmanship shall be final and binding on both the parties.

The term "Engineer" shall mean the firm or person(s) appointed by the Museum/Centre to superintend the work. He/They will receive his/their instruction for the work from the Museum/Centre.

The successful e-tenderer shall afford the said Engineer(s) every facility and assistance for examining the work and materials and for checking and measuring works and materials.

The Engineer or any Authorized Assistant of the Engineer shall have power to give notice to the successful e-tenderer or to his Supervisors of non-approval of any work, or materials, and such work shall be suspended or the use of such materials shall be discontinued. The work from time to time be examined by the Engineer or the Engineer's Assistant but such examination shall not in any way exonerate the successful e-tenderer from the obligation to remedy any defects due to materials or workmanship not in accordance with the contract which may be found to exist at any stage of the work or may appear within the defects liability period mentioned in **clause 20**.

#### 3. SCOPE OF THE CONTRACT

The successful e-tenderer shall carry out and complete the works in every respect in accordance with this contract and in accordance with the directions of the Engineer and to the satisfaction of the Engineer and the Museum/Centre. The Engineer may from time to time issue further drawings and/or written instructions, detailed directions and explanations in regard to:

- (a) The variation or modification of the design, quality or quantity of works for the addition or omissions or substitution of any work.
- (b) Any discrepancy in the drawings or between the schedule of quantities and/or drawing and/or specifications.
- (c) The removal from the site of any material brought therein by the successful e-tenderer and the substitution of any other materials there from.
- (d) The removal and/or re-execution of any works executed by the successful e-tenderer.
- (e) The dismissal from the works of any persons employed thereupon.
- (f) The opening up for inspection of any work covered up.
- (g) The amending and making good of any defects under Clause 20.

The successful e-tenderer shall comply with and duly execute any work comprised in such instructions, detailed directions and explanations, provided always that if the Engineer's instructions involved variations from the priced Schedule of Quantities, such instructions shall be issued by the Museum/Centre and the successful e-tenderer shall take the action stipulated in <u>Clause 34</u>.

If the work shown on any such further drawings or detailed drawings or that may be necessary to comply with any such instructions, directions, or explanations be in the opinion of the successful e-tenderer, extra to that comprised in or reasonably to be inferred from the contract he shall before proceeding with such work, give notice in writing to this effect to the Engineer, and in the event of his not doing so three days before the commencement of such work the successful e-tenderer shall not be entitled to any allowance in respect of any such extra work. But if such notice has been duly given and the Engineer and the successful e-tenderer, fail to agree as to whether or not there is any extra, then if the Engineer decides that the successful e-tenderer is to carry out the said work, the successful e-tenderer shall do so accordingly, and the question whether or not there is any extra and if so, the amount thereof shall failing agreement be settled by the Arbitration as provided in **Clause 44** on a reference being made by the successful e-tenderer.

#### 4. SCOPE OF WORK

Even if not specifically mentioned in the schedule of quantities, the successful e-tenderer shall be deemed to have allowed necessary material, labour, tools and plants etc. required for satisfactory completion of the items of work as indicated in drawings and description given in the specifications, which are attached herewith unless the item specifies labour only or otherwise. Rates quoted also apply for work in patches, strips, small or large areas, and for different shapes and in different sizes and in different planes (Horizontal/vertical or inclined).

#### 5. INSPECTION OF SITE

The e-tenderer must visit site before giving e-tender and must get acquainted with the working conditions.

The e-tenderer shall examine all specifications, e-tender conditions and drawings before e-tendering for the works.

The e-tenderer shall obtain all information relating to local regulations, bye-laws, application of any and all laws relating to his work or profession. No additional claims shall be admissible on this account.

#### 1. WATER, ELECTRICITY AND CEMENT GODOWN

The successful e-tenderer shall construct at the site at their own cost temporary cement godown within the mobilization time as described in NIT <u>Clause 26</u>, of appropriate size suitable for proper and safe storage of 3 months' consumption of cement. They will also arrange at their own cost supply of water and electric power at site required by them for construction.

#### 7. SUCCESSFUL E-TENDERER TO PROVIDE EVERYTHING NECESSARY

The successful e-tenderer shall provide everything necessary for the proper execution of the works according to the true intent and meaning of the drawings and specifications and bill of quantities taken together, whether the same may or may not be particularly shown on the drawings or described in the specifications or included in the bill of quantities, provided that

the same is to be reasonably inferred there from and if he finds any discrepancy in the drawings, or between the drawings and specifications and bill of quantities, he shall immediately refer the same to the Engineer who shall decide which shall be followed. Figured dimensions shall be followed in reference to scale.

The Successful e-tenderer shall supply, fix and maintain at his cost during the execution of any works, all the necessary centering, scaffolding, staging, planking, timbering, shuttering, shoring, pumping, fencing, boarding, watching and lighting by night as well as by day required for the proper execution and protection of the public and the safety of any adjacent roads, streets, cellars, vaults, eves, pavement, walls, houses, buildings and all erections, matters or thing, and they shall take down and remove any or all such centering, scaffolding, etc. as occasion shall require or when ordered to do so and shall fully reinstate and make good all matters and all things disturbed during the execution of the works to the satisfaction of the Engineer before a Virtual Completion Certificate is issued.

The Successful e-tenderer shall make his own arrangements for laying temporary water and electrical power lines including excavation if necessary so as not to cause any obstructions along locations approved by the Engineer. The water supply lines, hose pipes, electrical lines, underground or overhead etc. belonging to them should not cause damage to the property of the museum/centre including gardens, plants, flowers, hedges, flower pots in the Campus etc. Any expenditure incurred by the museum/centre due to damage so caused shall be debited to the Successful e-tenderer's account. It is their complete responsibility to ensure that the garden area and its approaches and other areas not allocated to them are not encroached upon by their men and materials. They have to provide a fence at their cost to confine the activities of construction, labour and materials, to the construction area as approved by the Engineer or his representative. The bitumen carpeted road in front of museum/centre's office, Science and Exhibits Laboratory, Stores and Workshop or garden paths and defined areas will not be allowed to be used by their labour, materials, trucks and other modes of transport system. Their labour is not allowed to use Campus grounds for baths, calls of nature etc.

The museum/centre shall on no account be responsible for the expenses incurred by the successful e-tenderer for hired ground or electric power or water obtained from elsewhere.

#### 8. DRAWINGS, DESIGNS ETC.

Contract drawings are diagrammatic but shall be followed as closely as actual construction permits. Any deviations made shall be in conformity with the architectural and other service drawings.

Architectural drawings shall take precedence over electrical and other service drawings as to all dimensions.

Successful e-tenderer shall verify all dimensions at site and bring to the notice of the Engineer all discrepancies or deviations noticed. The Engineer's decision shall be final and binding.

All drawings issued by the Museum/Centre are the property of the Architects and shall not be lent, reproduced or used on any other works than intended without the written permission of the Architects.

Large size details and manufacturer's dimensions for materials to be incorporated shall take precedence over small scale drawings.

One complete set of drawing, specifications and schedule of quantities shall be furnished by the Engineer to the successful e-tenderer and the Engineer shall furnish, within such time as he may consider reasonable, one copy of any additional drawing which in his opinion may be necessary for the execution of any part of work. Such copies shall be kept on the works, and the Engineer and his representatives shall at all reasonable times have access to the same and they shall be returned to the Engineer by the successful e-tenderer before the issue of the certificate for the balance of this account under the contract.

Museum/Centre will make all efforts to give all drawings, designs; decision etc. from time to time and the successful e-tenderer shall make timely requests for the same. No claim whatsoever shall however be entertained for compensation for the delay in supply of drawings, designs, decisions, running payments, etc. from the Successful e-tenderer. Drawings shown at the time of issue of e-tenders and forming part of the contract shall indicate scope of work and drawings issued subsequently during the execution of work shall be deemed to be drawings elaborating the basic scheme. If any detailed drawings show an item for execution, which in the opinion of the successful e-tenderer is not covered under the items of the contract, he shall immediately refer it to the Engineer, for final decision. Decision of the Engineer as to whether it is an extra item or not or whether it is covered by contracts and if not what extra rate should be paid shall be final and binding on both the parties to the contract i.e. Museum/Centre and the Successful e-tenderer.

#### 9. REFERENCE DRAWINGS & SHOP DRAWINGS

#### **Reference Drawings**

The Successful e-tenderer shall maintain one set of all drawings issued to him as reference drawing. These shall not be used at site. All corrections, deviations and changes made at the site shall be shown on these reference drawings for incorporation in the completion drawings. All changes to be made shall be initiated by the Engineer.

#### **Shop Drawings**

The Successful e-tenderer at his own cost shall submit to the Engineer as well as to the Architect four copies of shop drawings related to structural steel work, Aluminium door/window, bar bending schedule, Electrical work, Air conditioning work etc. for approval.

#### 10. SCHEDULE OF RATES AND SPECIFICATIONS

Specifications as attached herewith shall be applicable. However, the e-tenderer shall include in his rates all such items of work which are not specifically included in the e-tender schedule but are required to be executed to complete the works in accordance with the drawings, specifications etc. The Museum/Centre is not bound to follow the practice and mode of measurements followed by other departments.

#### 11. ERROR IN SCHEDULE OF QUANTITIES, IF ANY

Should any error appear in the bill of quantities, other than the E-tenderer's prices and calculation, it shall be rectified by the Engineer after informing the Museum/Centre. Such variation shall constitute a deviation of the contract and shall be dealt with as hereinafter provided.

#### 12. NOMENCLATURE OF ITEM

Nomenclatures of the items of works mentioned in the priced schedule are only a brief description of the work. The work shall have to be executed in accordance with the specifications for the work to the satisfaction of the Engineer of the work. Any omission in description will not absolve the successful e-tenderer from his responsibilities to complete the work in a satisfactory manner.

#### 13. METRIC UNITS

The bills of quantity indicate the unit of Metric system. The mode of measurement of different items of work shall be as per details contained in specification and special conditions, with the equivalent of the units mentioned therein in Metric System.

#### 14. CPWD/PWD SPECIFICATIONS AND I S CODES

CPWD/PWD specifications & relevant I.S. Code of practice shall be applicable, for all items of work

#### 15. ORDER OF PRECEDENCE

If any discrepancy is noticed between the conditions and specifications, drawing etc. the following would be the order of precedence:

- (a) Schedule of Quantities.
- (b) Notice Inviting E-tender (NIT)
- (c) General Conditions of Contract (GCC)
- (d) Drawings and notes thereon.
- (e) Specifications for General Building (civil works) Sanitary and Plumbing, Electrical Installation, Air-conditioning, Acoustic Treatment, Furniture making and/or Wood Paneling, Elevators and Escalators, etc.
- (f) CPWD/PWD Specifications & I.S. codes.

#### 16. SETTING OUT WORK ETC.

- (a) The successful e-tenderer at his own expense shall set out the works and shall be responsible for the true and perfect setting out of the same and for the correctness of the positions, levels, dimensions and alignment of all parts thereof. If at any time any error shall appear during the progress of any part of the work, the Successful e-tenderer shall at his own expense rectify such error if called upon to the satisfaction of the Engineer.
- (b) All soil, filth, or other matter of an offensive nature taken out of any trench, sewer, drains, cesspool or any other place shall not be deposited on the surface, but shall be at once carted away by the Successful e-tenderer to some pit or place to be provided by him.

#### 17. MATERIALS

All materials used for this work shall be conforming to the Specifications.

As far as practicable, materials shall conform to the latest Indian Standards as amended upto-date. All materials used on the project shall be approved by the Engineer before use.

Successful e-tenderer may be required to purchase such materials of particular make or from a particular source if in the opinion of Engineer, the same is necessary and is required for the proper and reasonable compliance of the specifications and in the interest of better quality of work. The fittings and accessories to be used in the work shall be presented for approval well in advance. Approved fittings shall be kept in the office of the Engineer in a mounted lockable board, to be approved by the successful e-tenderer.

#### (a) Storage of Materials

All materials shall be stored in a proper manner protected from natural elements so as to avoid contamination and deterioration.

Successful e-tenderer's store shall be open to inspection by the Engineer at all reasonable hours.

Locations of stores and storage yards shall be approved by the Engineer prior to construction or occupation.

Successful e-tenderer shall take adequate protection of the materials against fire and other calamities.

All watch and ward staff for his work shall be appointed and maintained by the Successful e-tenderer at his own expense.

#### (b) Inspection and Testing of Materials

The Successful e-tenderer at his own expense shall make all necessary arrangements for carrying out tests on materials as required by the Engineer. He shall also be required to produce manufacturer's test certificates for the materials supplied by him whenever required by the Engineer. The tests carried out shall be as per the relevant Indian Standards in approved laboratories. The Museum/Centre reserves the right to appoint the testing authorities.

#### 18. FAULTY MATERIALS AND WORK

(a) The Engineer shall during the progress of the work has power to order in writing from time to time the removal from the work, within such reasonable time or times as may be specified in the order, to any materials and/or Workmanship which in the opinion of the Engineer are not in accordance with the specifications or the instructions of the Engineer. The substitution of proper materials or any workmanship and the removal and proper re-execution of any work executed with materials or workmanship not in accordance with the drawings and specifications or instructions shall have to be forthwith carried out by the Successful e-tenderer at his own cost upon receiving such order. In case of default on the part of the Successful e-tenderer to carry out such order the Museum/Centre shall have the power to employ any other persons to carry out the same and all the expenses consequent thereon or incidental thereto shall be borne by the

Successful e-tenderer and shall be recovered from them by the Museum/Centre from any money due to or that may become due to the Successful e-tenderer or from the amount of retention money.

(b) In lieu of rectifying the work not done in accordance with the contract the Engineer may, with the consent of the Museum/Centre allow such work to remain, and in that case may make allowance for the difference in value together with such further allowance for damage to the Museum/Centre as in their opinion may be reasonable. Provided always that nothing in this clause shall relieve the Successful e-tenderer from his liability to execute the works in all respect in accordance with those terms and upon and subject to the conditions of this contract or from his liability to make good all defects.

#### 19. ACCESS

The Museum/Centre or its representatives shall at all reasonable time have free access to the works and/or to the workshops factories or other places where materials are being prepared or constructed for the contract and also to any place where materials are lying or from which they are being obtained and the Successful e-tenderer shall give every facility to them for inspection, examination and testing of the materials and workmanship. Except the representative of Public Authorities and those mentioned above, no person shall be allowed on the works at any time without the prior written permission of the Engineer or the Museum/Centre.

If any work is to be done at a place other than the site of works the Successful e-tenderer shall obtain prior written permission of the Engineer for doing so.

#### 20. DEFECT LIABILITY PERIOD AND DEFECTS AFTER COMPLETION

Defect Liability, Period shall be one year from the date of virtual completion of work, as certified by the Museum/Centre. Any defect, shrinkage or other faults, which may appear within the defect liability period, in the opinion of the Engineer, arising from materials or workmanship not in accordance with the contract or from failure to take due precautions, shall upon the directions in writing of the engineer and within such reasonable time as shall be specified therein be amended and made good by the Successful e-tenderer at his own cost. In case of default, the Museum/Centre may employ and pay any other person/persons to amend and make good such defect, shrinkage or other faults and all damage, loss and expenses consequent thereon or incidental thereto shall be made good and borne by the Successful e-tenderer.

Such damage, loss and expenses shall be recoverable from the Successful e-tenderer by the Museum/Centre or may be deducted by them from any money due or that may become due to the Successful e-tenderer. The Museum/Centre may also in lieu of such amendments deduct from any money due to the Successful e-tenderer, a sum to be determined by the Engineer equivalent to the cost of amending such works, and in the event of the amount retained under <u>Clause 32</u> (the amount held as retention money) being insufficient, recover the balance from the Successful e-tenderer, together with expenses the Museum/Centre may have incurred in connection therewith. The Successful e-tenderer shall remain liable under the provisions of this clause notwithstanding the signing by the Engineer of any certificate or the passing of any bills.

#### 21. OPENING OF WORK

- (a) All works under or in course of execution or executed in pursuance of the contract shall at all times be open to the supervision of the Museum/Centre, Engineer or their representatives.
- (b) The Successful e-tenderer shall notify the Engineer in writing immediately after the renches or excavations, as shown in the drawings, are executed or as soon as any ground is cut into which from unexpected causes, appears to need immediate attention. After notifying the Engineer he shall await instructions which shall be given within seven days of receipt of such notice. If the Successful e-tenderer puts in, any part of the foundations before he has notified the Engineer and received instructions, he shall be liable to reinstate all work that may subsequently at any time, be damaged on account of any defect or insufficient foundations. The Successful e-tenderer shall at the request of the Engineer, within such time as indicated by the Engineer, shall open up for inspection any other work and should the Successful e-tenderer refuse or neglect to comply with such request, the Museum/Centre through the Engineer may employ other workmen to open up the same. If the work has been covered up in contravention of Engineer's instructions, or if on being opened up, be found not in accordance with the drawings and specifications or the instructions of the Engineer, the expenses of opening up and covering it up again, whether done by the Successful e-tenderer or such other workmen shall be borne by or be recoverable from the Successful e-tenderer or may be deducted from any money due or which may become due to the Successful e-tenderer or from the amount held as retention money. If the work has not been covered up in contravention of such instructions, and be found in accordance with said drawings and specifications or instructions, the expenses aforesaid shall be borne by the Museum/Centre and shall be added to the contract sum provided always that in the case of foundations or of any other urgent work so opened up and requiring immediate attention, the Engineer shall within seven days after receipt of written notice from the Successful e-tenderer that the Work has been so opened, make or cause to make the inspection thereof and at the expiration of such time if such inspection shall not so have been made, the Successful e-tenderer may cover the same and shall not be required to open it up again, except at the expense of the Museum/Centre.

#### 22. WORK IN SUBSOIL WATER / RAIN WATER/WATER

If during execution of work, sub-soil water is met with, or water enters the working space due to rains or any other cause, the Successful e-tenderer shall do dewatering using pumps or manual labour and also carry out additional work consequent thereupon, including shoring, strutting, work in liquid mud, sludge etc. without extra payment.

#### 23. HEIGHTS

Successful e-tenderer's rates shall include lifts up to all heights given in drawings or as required during execution. They should satisfy themselves for correctness and allow for variation if necessary. Nothing extra will be paid for additional lifts except where special items for lifts exist in schedule. E-tenderer shall include in his e-tender rates allowance for

works at extra heights required for double or multiple staging, tall centering, scaffolding etc. for all items including extra labour if any. If any deviation from the contract drawings in respect of height is noticed by the e-tenderer in any subsequent working drawing issued to him during continuance of the works that must be brought to the notice of the Engineer (in writing) sufficiently before commencing execution of the work. The decision of the Engineer as to whether this will be an extra item or not or whether the Successful e-tenderer is entitled to get any extra payment or not for execution of this extra height will be final and binding.

#### 24. SCAFFOLDING, CENTERING & SHUTTERING

The Successful e-tenderer shall use external scaffolding to ensure true line in vertical and horizontal planes. Centering, shuttering and scaffolding required for execution of this work may vary from single floor height to multi floor heights, which may require multiple staging, scaffolding, centering and shuttering. Since the payments will be made to the successful e-tenderer at net quoted rates, irrespective of the heights involved the e-tenderers must see and study the drawings carefully before e-tendering their rates.

#### 25. GLAZING

If glass of required thickness is not available in the market the successful e-tenderer shall have to use next higher thickness available without any extra payment. Rate for glazing shall include for providing and fixing either clear or frosted glass as shown in drawings or as directed by the Engineer.

#### 26. WOOD WORK

Sizes mentioned in schedule of quantity or in drawings are the finished sizes.

Successful e-tenderer shall allow necessary increase in sizes for planning required. In case the sizes of wooden members fixed are less than the one shown in the drawing schedule of quantity allowing for tolerance, payment will be made for actual size used at site. The rate quoted shall also include the allowance for curved or tapered or any other shape of the wooden member. Wherever the wooden member abuts against masonry/RCC work, all the unexposed surfaces of wood work shall be required to be treated with two coats of suitable ant termite paint. E-tenderer's rates shall include application of two coats of anti-termite paint.

#### 27. SITE CLEARANCE AND CLEAN UP

The Successful e-tenderer shall, from time to time clear away all debris and excess materials accumulated at the site.

After all fixtures, equipment and appliances have been installed and commissioned, they shall clean up the same and remove all plaster, paints, stains, stickers and other foreign matter of discoloration leaving the construction in ready to use condition.

On completion of all works they shall demolish all temporary storages put up by them, remove all surplus materials and leave the site in a broom clean condition.

#### **28. RATES**

The rates quoted by the Successful e-tenderer shall be paid at net rates. He should include in his rates allowance for increase or decrease in the prices due to market fluctuation. He shall not be entitled to any separate amount on account of taxes like GST, Income tax, labour cess etc., which are in force or will be enforced or enhanced by Government or local bodies during contract period or after e-tendering. Accepted e-tender rates shall not be changed due to changes in wages of labour either.

#### 29. OUANTITIES

All the quantities given in schedule of quantities are provisional.

The e-tenderers shall be deemed to have given Balanced Rates for each item, irrespective of the quantities given. Also irrespective of variation in quantities to any extent the e-tenderer shall be paid at accepted contract rates only. Museum/Centre reserves the right to increase or decrease quantities to any extent.

#### 30. ESCALATION CLAUSE (Not Applicable)

Payments for variation in prices and wages (escalation) will be admissible as per following details.

(i) Material Escalation: The increase in price of all materials beyond quoted rates will be compensated by the department as per formula given below:

$$Vm = 70/100 \times (0.85v + (C+S)* \times (WI + WIO / WIO)$$

#### Where:

<del>Vm</del>	Variation in materials cost i.e. increase or decrease in the amount in rupees
	to be paid or recovered.
¥	Value of work done excluding advances on material, if any during the period
	under reckoning.
C	Cost of Cement used in the work
S	Cost of Steel used in the Work
WI	Average All India Wholesale Price Index for all commodities for the period
	under reckoning as published in the RBI Bulletin.
WIO	Average All India Wholesale Price Index for all Commodities during the
	month of opening of the e-tender as published in the RBI Bulletin.

(ii) Labour Escalation: Increase in the cost of labour beyond quoted rates will be compensated by the museum/centre as per formula given below:

$$VL = 30/100 \times (0.85V + (C+S)* \times I - I0 / I0$$

#### Where:

VL Variation in labour cost i.e. increase or decrease in the Amount in rupees to be paid or recovered.

V, C & S - As stated under (i) above.

I	Average All India Consumer Price Index Number for Industrial Workers
	declared by Labour Bureau, Government of India, as published in RBI
	Bulletin during the period under reckoning.
10	Average All India Consumer Price Index Number for Industrial Workers
	declared by Labour Bureau, Government of India, as published in RBI
	Bulletin during the month of opening of e-tender.

\*(Value of (C+S) shall be put in the formula if these — materials are issued by the museum/centre). (Otherwise if cement and steel are not issued by the Museum/Centre, the value of (C+S) shall be taken as Zero).

No Claims for other escalation on any account whatsoever will be entertained.

The amount of escalation will be calculated monthly for the work done in that particular month and will be paid for quarterly. Escalation is not permissible on successful e-tenderer's overhead and profit that explains the term 0.85V.

Ceiling on amount due to escalation—In no case total amount of escalation, to be paid for the entire work will exceed 20% of the total cost of the work based on the etendered rate.

#### 31. SECURED ADVANCE

- (a) The Successful e-tenderer shall not be entitled to be paid for the materials brought to site, which remains unused or unfixed. The Engineer, with the concurrence of the Museum/Centre may pay an advance up to 85% of the cost of such material as calculated from the respective e-tender item. When in any certificate, of which the Successful e-tenderer has received payment the value of material at site has been included, such materials shall become the property of the Museum/Centre but the Successful e-tenderer shall be liable for any loss or damage to any such material. They shall furnish an indemnity bond in the prescribed form along with their claim for advance against materials brought to site for *bonafide* use in specific items under the schedule of quantities.
- (b) The secured advance so paid shall be adjusted in the running account bills as and when the materials are used subject to wastage.
- (c) If the specification or schedule of quantities of the work provided use of any special description of materials to be supplied by the Museum/Centre or it is required that the Successful e-tenderer shall use certain stores to be provided by the Museum/Centre, such materials and stores and the price to be charged therefore as hereinafter mentioned, being so far as practicable for the inconvenience of the Successful e-tenderer but not so as in any way to control the meaning or effect of this contract, the Successful e-tenderer may be supplied with such materials and stores as and when required from time to time to be used by him for the purpose of the Contract only, and the value of the full quantity

of material and stores supplied at the rates specified in the said schedule appendix memorandum may be set off or deducted from any sum then due or thereafter to become due to the Successful e-tenderer under the contract or otherwise, or from the retention money or against the sale proceeds thereof, if the same is held up in Government Securities, the same or sufficient portion thereof being in this case sold for the purpose. All materials supplied to the Successful e-tenderer by the Museum/Centre shall remain absolute property of the Museum/Centre. The Successful e-tenderer shall be fully responsible for their storage and maintenance and shall not on any account remove those from the site of the work. The material shall at all times be open to inspection by the Engineer and/or the Museum/Centre. At the time of the completion of work or termination of the contract, or even earlier if so required by the museum/centre, the same shall be returned to them. The successful e-tenderer shall not be entitled to return any such material unless the same is, in the opinion of the Engineer of the Museum/Centre in perfectly good condition; and shall have no claim for compensation on account of any such materials so supplied to him as aforesaid being unused by him or for any wastage in or damage to any such materials.

- (d) Owing to restriction in obtaining certain materials from the market, the Museum/Centre may undertake to supply certain materials at specified rates as stated in the appendix. In case of delay in supply of these materials by the Museum/Centre, the Successful etenderer is required to keep himself in touch with the day to day position regarding the supply of such materials from the Museum/Centre and to adjust the progress of the work in a manner that his labour do not remain idle, nor thereby lodge any claim due to or arising out of delay in obtaining such materials. No claim whatsoever shall be entertained by the Museum/Centre on account of delays in supply of these materials.
- (e) The Successful e-tenderer shall ensure that only the required quantities of materials are got issued and the surplus quantities of materials, if in good condition, shall be taken by the Museum/Centre at the rates fixed in the Appendix.
- (f) Essentiality Certificates/Permits/Recommendation Letters for materials available at controlled rates etc. would be given by the Museum/Centre, if required by the successful e-tenderer. It will, however, be their responsibility to obtain materials against the certificates or otherwise, and no claim on this account or any extension of time for completion of works will be entertained by the Museum/Centre. The Successful e-tenderer shall use materials thus procured exclusively in this work and for misuse, if any, he shall be solely responsible.

#### **32. RETENTION OF MONEY**

This shall mean and be 10% of the total gross value of the work as paid for against this contract including the performance guarantee and the amount which shall be recovered from the running bills. In case of termination of contract, this retention money shall be forfeited and amount necessary to make up this amount shall be recovered from the money due to the successful tenderer under this contract, or any other contract. The successful

tenderer can give retention money in the form of a Bank Guarantee from a Nationalised Bank in approved format to the extent of 10% of the total cost of work awarded valid for a period equal to completion period plus one year (which will have to be suitably extended to cover defect liability period and extended period of contract whichever is later). Tenderers who have deposited earnest money/ performance guarantee in cash or in Bank Guarantee along with the tender could get refund of earnest money deposited in cash or Bank Guarantee after the Bank Guarantee for the 10% of the total cost is received and accepted by the Museum/Centre. The retention money in the form of Bank Guarantee will not be accepted in parts.

The successful tenderer shall have to extend the Bank Guarantee period, from time to time at least three weeks before the expiry of a Bank Guarantee to cover the defects liability period, reckoned from the date of virtual completion. In case they fail to extend the Bank Guarantee at least three weeks before its expiry, it shall be considered a breach of contract on the part of the successful tenderer and hence, the Museum/Centre shall be free to demand the Guarantee money from the Bank. The retention money will be refunded to the successful tenderer after successful completion of defect liability period as per **Appendix to NIT** or from the date of passing of final bill, whichever is later and after the successful tenderer has rectified all the defects pointed out to him.

Note: - EMD and Performance Guarantee deposited in other modes than online transfer, has to be drawn or duly pledged in favour of National Science Centre, Delhi.

#### 33. AUTHORITIES, NOTICES AND PATENTS

The successful e-tenderer shall confirm to the provision of any Act of the Legislature relating to the works, the Regulations and Bye-Laws of any corporations and of any electric and other Companies and/or authorities with whose systems the structure is proposed to be connected, and shall, before making any variation from the drawings or specifications that may be necessitated by so conforming, give to the Engineer written notice, specifying the variation proposed to be made, and the reason for making it, and apply for instructions thereon. If compliance with this clause involves any extra work not included in this contract, he shall specify these items of work and the allowance or extra payment required on their account. In case he shall not, within seven days, received such instructions, shall proceed with the work, conforming to the provision and/or regulation of bye-laws in question.

The amount claimed as an extra or whether there is an extra or not shall be decided by the Engineer and will be subject to arbitration clause if so required.

The successful e-tenderer give all notices required by the said regulations or bye-laws to be given to any authority and pay to such authority or to any public office all fees that may be properly chargeable in respect of the works and lodge the receipts with the bill.

The successful e-tenderer shall indemnify the Museum/Centre against all claims in respect of patent rights, and shall defend all action arising from such claims and shall himself pay all royalties, licence fees, damages, cost and charges of all and every sort that may be legally incurred in respect thereof.

#### 34. DEVIATIONS

The successful e-tenderer may when authorize and when directed, in writing by the Engineer with the approval of the Museum/Centre add or omit or vary the works shown upon the drawings, or described in the specifications, or included the bill of quantities, but they shall make no addition, omission or variation without such authorization or direction. A verbal authority direction by the Engineer shall, if confirmed by him in writing within seven days, be deemed to have been given in writing.

No claim for an extra shall be allowed unless it shall have been executed under the provisions of <u>Clause 33</u> or by the authority of the Engineer with the concurrence of the Museum/Centre as therein mentioned. Any such extra if herein referred to, as an authorized extra shall be governed by <u>Clause 35</u>. No variation i.e. additions or substitutions shall vitiate the contract.

#### 35. PRICE FOR DEVIATIONS

Deviations shall be valued at the net rates contained in the E-tenderers' original e-tender or where the same may not apply direct at rates analogous to the prices therein contained. If the altered, additional or substituted work included any class of work for which no rate is specified in the contract, then the Successful e-tenderer shall within seven days of the date of receipt of the order to carry out the work, inform the Engineer with a copy to the Museum/Centre the rate which he intends to charge for such class of work with proper analysis. In the event of his not doing so, within a reasonable time before the commencement of such work, he shall not be entitled to any allowance or payment in respect of any such extra work. When such notice has been duly given, the Engineer with the consent of the Museum/Centre may agree to such a rate but if the Engineer does not agree to this rate, the Engineer may cancel his order to carry out such class of work and arrange for it to be carried out departmentally or through any other agency or in such a manner as he may consider advisable or he may decide that the Successful e-tenderer shall carry out such items of work and in such case he shall only be entitled to be paid in respect of the work carried out or expenditure incurred by him according to such rate or rates as shall be fixed by the Engineer which will, however be subject to the Arbitration Clause.

However, in respect of the rates for extra/new items, if there are any, the opinion of the Engineer as to whether it is an extra item or not, and if so, what rates should be paid shall be final and binding on the successful e-tenderer shall be derived from contract items so far as applicable and the rates which cannot be derived from contract will be fixed on the basis of actual cost of materials and labour, plus 15% as successful e-tenderers' overheads and profits on all trades except on the cost of materials supplied departmentally.

Successful e-tenderer shall not claim any idle and remobilization charge for interim delay due to late decision by the Museum/Centre. Such legitimate interim delays shall however be considered for extension of time, if any.

Furthermore, they shall submit analysis of rates with justifications for claiming extra on any deviation item at least 45 days prior to the probable date of execution of the referred item.

#### **36. MEASUREMENTS**

In case of dispute between the successful e-tenderer and the Museum/Centre as to under which item a particular work is to be measured the decision of the Engineer shall be final and binding on both the parties to the contract. If for any items, the mode of measurements is not specified the decision of the Engineer about the mode of measurement shall be final and binding on both the parties to the contract.

#### 37. PREPARATION OF RUNNING AND FINAL BILLS

Minimum value of work for interim certificate shall be Rs. one lakh (or less at discretion of the Museum/Centre) but not more than one running bill, in a fortnight, if paid separately. 75% advance bill against work done but unmeasured and adjustable fully in the next running bill may be certified by the Engineer, at his discretion in the interest of the work. The Engineer or his representative shall take measurements in presence of Successful etenderer's representative and record them in the Measurement Book from time to time and shall prepare abstract for running and final bill, including recovery statements. The bill abstract shall be prepared on standard CPWD form on the basis of abstract of quantities prepared by the Engineer in triplicate. The Successful e-tenderer should sign the bill and Measurement Book with the remark "Measurement and bill accepted". However, in the final bill, the successful e-tenderer shall have to certify - "The bill is accepted in full and final settlement of all claims and demands against this work". In case a large amount is blocked in the final bill pending technical/audit check, advance up to the extent of 75% of net final bill amount may be paid to the successful e-tenderer, with the approval of the Engineer at his direction even after the completion date is over. The recovery from Running Account Bills for the materials issued by the Museum/Centre shall be made on the basis of the quantity consumed in the work as assessed by the Engineer, giving a due allowance for wastage. The Successful e-tenderer shall submit once a month a statement showing the materials received, consumed and the balanced carried over to the subsequent month so that a watch could be maintained on the material.

#### 38. CERTIFICATES AND PAYMENTS

- (a) The Engineer may from time to time intimate in writing to the Successful e-tenderer that he requires the works to be measured and they shall attend or send qualified agent to assist the Engineer or the Engineer's representative in taking such measurements, and calculations and to furnish all particulars or to give all assistance required by the Engineer. Should they not attend or neglect or omit to send such agent then the measurement taken by the Engineer or approved by him shall be taken to be correct measurements of the work unless objected to within one month of their being recorded in the measurement book or books. Such measurements shall be taken in accordance with the mode of measurements mentioned in the specifications.
- (b) The Successful e-tenderer or his agents may at the time of measurement take such notes of measurements as they may require.

- (c) The Engineer or his authorized representative will issue on the basis of necessary measurement interim valuation certificates to the Successful e-tenderer in respect of items of work, rates for which exist in the priced schedule of quantities or have been subsequently agreed upon between the parties, and shall send the measurement books and the valuation certificates to the Museum/Centre. The Successful e-tenderer shall be entitled under these certificates of the Engineer to payments, within 15 days from the date of each certificate, unless objected as provided in sub-clauses (a) & (b) at the rate of maximum 90% of the value of work so executed and the balance being retained towards retention money. The engineer shall issue such certificates within fifteen days of notice from the Successful e-tenderer provided measurements have been taken and the value of the work done since last payment exceeds the amount stated in the appendix and not more than one certificate is required in a fortnight, provided always that the issue by the Engineer of any certificate during the progress of the work or after their completion shall not have any effect as a certificate of satisfaction or relieve the Successful e-tenderer from his liability under Clause 20 and 21. Provided all defects are removed and the retention money is not forfeited or has not become liable to be forfeited under this contract, retention money shall be refunded after successful completion of defect liability period as per Appendix to NIT which will be from the date of virtual completion of the work or from the date on which final bill is passed for payment, whichever is later.
- (d) All intermediate payments shall be recorded as payments by way of advance against the final payment only and not as payment for work actually done and completed. The final bill shall be submitted by the Successful e-tenderer within 3 months of the date fixed for completion of the work. The measurement of the work taken by the Engineer or his representatives after one week's notice to the Successful e-tenderer shall be final and binding on him unless objected to within one month of their being recorded in the measurement books.
- (e) The Museum/Centre may in consultation with the Engineer, but absolutely at his discretion, make an advance payment on account, which will be merged in the next intermediate payment, based on measurements.
- (f) Advance for materials brought to site: The Successful e-tenderer shall execute a bond in favour of the Museum/Centre in the prescribed format attached hereto for each advance or intermediate payment received by him. If the Successful e-tenderer commits any default in the terms of the said bond and he fails to pay the bond amount, the Museum/Centre shall have the power to:
- (i) Seize and utilize the said materials or any part thereof for the completion of the works.
- (ii) Remove and sell by public auction the materials seized or any part thereof, and out of the proceeds of the sale, retain all sums repayable to the Museum/Centre together with interest thereon at the rate prescribed by Govt. of India from time to time for capital outlays.
- (iii) Deduct all or any part of moneys owing from out of the retention money or any other sum or sums due to the Successful e-tenderer under this agreement.

(g) The Successful e-tenderer agrees that before final payment shall be made on the contract, he will sign and deliver to the Museum/Centre either in the measurement books or otherwise as required, a valid release and discharge certificate from any and all claims and demands whatever from the Museum/Centre for all matters arising out of or connected with the contract.

#### 39. TIME AND DAMAGES FOR NON-COMPLETION OF WORK IN TIME

- (a) All the construction works shall progress strictly as per the enclosed CPM/PERT/BAR CHART. If, however, the Successful e-tenderer desires some minor modifications in the same he may apply to the Museum/Centre within mobilisation time and before execution of the agreement indicating the reasons for which changes are required. The Museum/Centre may after scrutiny, agree to the modifications suggested if the reasons cited by the successful e-tenderer are considered valid. The decision of the Museum/Centre in this respect will be final and binding. The modifications, if any, are to be incorporated in the CPM/PERT/BAR CHART and this will form a part of the agreement.
- (b) The starting time specified for carrying out of the work as entered in the CPM/PERT/BAR CHART shall be reckoned from the date of issue of the Letter of Intent. The date of completion or such date as is duly extended under <u>Clause 40</u> shall be strictly observed by the Successful e-tenderer. The work shall, throughout the stipulated period of the contract, be proceeded with all diligence (Time being deemed to be the essence of this Contract) by the successful e-tenderer strictly according to the CPM/PERT/BAR CHART which is a part of this agreement.
- (c) At any stage during the execution of the work if the work lags behind the target indicated in the CPM/PERT/BAR CHART for reasons directly attributable to the Successful e-tenderer, he shall be liable to pay as agreed liquidated damages equivalent to half per cent of the total cost of work awarded every week for the period the work lags behind the CPM/PERT/BAR CHART subject to a maximum of 10% of the total value of work, awarded or gross value of work done, whichever is greater.
- (d) In the event of Successful e-tenderer's inability to complete the construction work by the scheduled date of completion, the Museum/Centre shall have the right to terminate the contract as per <u>Clause 42</u> or allow the successful e-tenderer to continue and complete the work within specific date. In the latter case, during the period of continuation, the successful e-tenderer shall pay as agreed liquidated damage equivalent to one per cent of the total cost of work awarded for every week that the work remains unfinished subject to a maximum of 10% of the total value of work awarded or gross value of work done, whichever is greater.

#### **40. EXTENSION OF TIME**

If the successful e-tenderer shall desire an extension of time for completion of the work on the grounds of his having been unavoidably hindered in its execution and for reasons not attributable to him on the following grounds: -

- (a) by reason of any exceptionally inclement weather like Cyclone, severe flood etc., normal monsoon shall not be considered a valid reason for extension of time,
- (b) by reason of proceedings taken or threatened by, or legal disputes with adjoining or neighbouring owners,
- (c) due to delay in the work of other agencies or tradesman engaged or nominated by the museum/centre: if such delay is directly responsible for delay in execution of this work,
- (d) by reason of any general strike or lockout affecting the building made, strike or any kind of labour trouble in successful e-tenderer's own organisation shall not be a valid reason for extension.
- (e) in the event of delay in execution of work wholly attributable to delay in supply of drawings by Architect or Museum/Centre in spite of request from the successful etenderer well in advance, he shall apply in writing to the Engineer within seven days of the date of the hindrance on account of which he desires such extensions as aforesaid and the engineer, with the consent of the Museum/Centre may if reasonable ground be shown therefore allow such extension of time, if any, be necessary or proper,
- (f) in case of the total value of the work exceeds the total value of the e-tender owing to deviation in quantities or extra items, the successful e-tenderer will be entitled to ask for extension of time in proportion to the increased value of work. Increase in value of work due to escalation as per Clause 30 shall not be a valid reason for extension of time.
- (g) No extension of time shall be given to the successful e-tenderer for non-supply or delay in supply of cement and/or steel as per Clause 56. The successful e-tenderer hereby agrees that extension of time requested for by him and granted by the Museum/Centre shall be treated as an extension of time allowed to them without any claim for compensation or damages for any reasons whatsoever including those for which the extension is granted.

If an extension of time is granted by the Museum/Centre for reasons of delay not attributable to the successful e-tenderer as indicated above, then the escalation clause will remain in force and the successful e-tenderer will be entitled to receive extra payments for variation in prices and wages subject to the ceiling limit of 20% of the total value of work as indicated in Clause 30.

However, the museum/centre in the interest of work is, allows any extension of time for reasons of delay directly attributable to the successful e-tenderer, the escalation clause (Clause 30 of conditions of contract) will not remain in force during such extended period.

#### 41. SUSPENSION OF WORK BY THE SUCCESSFUL E-TENDERER

If the successful e-tenderer suspends the works without obtaining extension of time or in the opinion of the Engineer neglects or fails to proceed with due diligence in executing his part of the contract or if he makes default more than once in the manner mentioned in Clause 20 above the Museum/Centre or the Engineer shall have power to give notice in writing to the successful e-tenderer requiring that the works be proceeded with reasonable speed and output must be commensurate with the CPM/PERT/BAR CHART. Such notice

shall specify the act of default on the part of the successful e-tenderer. After such notice has been given the Successful e-tenderer shall not be at liberty to remove from the site of work or from any ground continuous thereto any plant or materials belonging to him which had been placed thereon for the purpose of the work, and the Museum/Centre shall have a lien upon all such plants and materials to subsist from the date of such notice being given, until the notice have been complied with. Provided always that such lien shall not under any circumstances subsist after the expiration of thirty-one days from the date of such notice being given, unless the Museum/Centre has entered upon and taken possession of the works and site and of all such plants and materials until the works have been completed under the power hereinafter conferred upon it. If the Museum/Centre exercises the above power it may engage any other agency to complete the works or finish the works departmentally and exclude the successful e-tenderer, his agents and servants from entry upon or access to the same except that the successful e-tenderer or any one person appointed in writing by him and accepted by the Museum/Centre may have access at all reasonable times during the progress of works to inspect, survey and measure the works. Such written appointments marked with Museum/Centre's consent or a copy thereof shall be delivered to the Engineer before the person so appointed comes to the works. The Museum/Centre shall take such steps as, in the opinion of the Engineer may be reasonable and necessary for completing the works without undue delay & expense, using for that purpose the plants and materials above mentioned, in so far as they are suitable and adapted to such use. Upon the completion of the works the Engineer shall certify the amount of expenses properly incurred, consequent on the incidental to the default of the successful e-tenderer as aforesaid, in completing the works by other persons. Should the amount so certified as the expenses properly incurred, including Museum/Centre's overhead if the works were carried out departmentally, be less than the amount which would have been due to the Successful e-tenderer upon the completion of the works by him, the difference shall be paid to the Successful e-tenderer by the Museum/Centre. Should the amount of the former exceed the later, the difference shall be paid by the Successful e-tenderer to the Museum/Centre. The Museum/Centre shall not be liable to make any further payment or compensation to the Successful e-tenderer for or on account of the proper use of the plants for the completion of the works under provisions hereinbefore contained other than such payment as is included in the contract price. After the works have been so completed by persons other than the successful e-tenderer under the provisions hereinafter contained, the Museum/Centre shall give notice to the Successful e-tenderer of such completion and may require him from time to time, before and after such completion, to remove his plants and likewise all such materials as aforesaid as may not have been used in the completion of the works, from the site. If such plants and materials are not removed within such reasonable time, the Museum/Centre may remove and sell the same, holding the proceeds, less the cost of the removal and sell, to the credit of the successful e-tenderer. The Museum/Centre shall not be responsible for any loss sustained by the successful e-tenderer from the sale of plants in the event of the successful e-tenderer not removing it after notice, or for any damage thereto or deterioration thereof in any event.

#### 42. DETERMINATION OF CONTRACT BY THE MUSEUM/CENTRE

If the successful e-tenderer goes into liquidation, whether voluntary or compulsory or shall make an assignment or a composition for the benefit of the greater part, or shall enter into a Deed of Agreement with its creditors or if the Receiver of the Successful e-tenderer shall be unable, within fourteen days after notice to him requiring him to do so, to show to the reasonable satisfaction of the Museum/Centre that he is liable to carry out and fulfil the contract and if so required by the Museum/Centre to give reasonable security therefore or if the successful e-tenderer shall suffer execution to be issued or shall suffer any payment under this contract to be attached by or on behalf of any of the creditors or the Successful e-tenderer or shall assign, charge or encumber this charge or encumber this contract thereunder or shall neglect or shall fail to proceed to perform all or any of the act, matters or things by the contract, to be observed and performed by the successful e-tenderer for three clear days after written notice shall have been given the successful e-tenderer in manner, matter hereinafter mentioned, requiring the successful e-tenderer to observer perform the same or shall use improper material or workmanship in carrying on the works or shall in the opinion of the Engineer not exercised such due progress as stipulated in the enclosed CPM/PERT/BAR CHART forming part of this contract which would enable the works to be completed within the time agreed upon or shall abandon the contract, then, and in any of said cases, the Museum/Centre may notwithstanding any previous waiver, determine the contract by a notice in writing in which case the retention money (including the earnest money and the initial security deposit) and whether paid in one sum or deducted by instalment shall stand forfeited and be absolutely at the disposal of the Museum/Centre. The Successful e-tenderer shall have no claim or compensation for any loss sustained by him by reasons of his having purchased or procured any materials or entered into any engagements or made advances on account of or with a view to the execution of the work or the performance of the contract. The successful e-tenderer shall not be entitled to recover or be paid any sum for any work actually performed under the contract unless and until the Engineer will have certified in writing the performance of such work and the value of work payable in respect thereof and the successful e-tenderer shall only be entitled to be paid the value so certified. The certificate of the Engineer shall be based on measurements taken by him or under his supervision and with due notice to the Successful e-tenderer and on rates in the priced schedule or as subsequently communicated by the Engineer with the approval of the Museum/Centre, under this agreement except for arithmetical errors, shall be final and conclusive. The Successful e-tenderer must remove his plant, materials, scaffolding etc. from the site within 10 days (ten days) of the receipt of the notice from the Museum/Centre after which they will vest in the Museum/Centre who may, dispose them off as per Clause 41 by sale or auction on account of and at the risk of the successful etenderer who will have no claim for loss or compensation on this account.

#### 43. TERMINATION OF CONTRACT BY SUCCESSFUL E-TENDERER

If payment of the amount payable by the Museum/Centre under the certificate of interim payment issued by the Engineer in accordance with clause 38 shall be in arrears and unpaid

for sixty days after notice in writing requiring payment of the amount shall have been given by the Successful e-tenderer to the Museum/Centre in manner hereinafter mentioned or if works be stopped for six months under the order of the Museum/Centre for any reason not connected with any default on the part of the Successful e-tenderer or by any injunction or other order of any court of law made for any reasons not connected with any such default on the part of the successful e-tenderer then and in any of the said cases the successful etenderer shall be at liberty to terminate the contract by notice in writing to the Museum/Centre and he shall be entitled to recover from the Museum/Centre payment for all works executed and for useful materials (but not plants) purchased for the purpose of the contract and is brought to the site. In arriving at the amount of such payment, the net rates contained in the successful e-tenderer's e-tender shall be followed, or where the same may not apply, rates proportional to the prices therein contained. Rates for materials may be determined by the Engineer on actual vouchers produced by the successful e-tenderer and/or prevailing market rates at the discretion of the Engineer. The Successful e-tenderer shall not be entitled to recover or be paid any sum for any work actually performed under the contract, unless and until the Engineer has certified in writing the performance of such work and the value payable in respect thereof and the successful e-tenderer shall only be entitled, to be paid the value so certified. The certificate of the Engineer shall be based on measurements taken by him or under his supervision after due notice to the successful etenderer and shall be final and conclusive except for arithmetical errors. The successful etenderer must remove his plant, materials, scaffolding etc. from the site within ten days or such time as may be extended by the Museum/Centre in writing, from the receipt of the notice from the Museum/Centre after which they will vest in the Museum/Centre who may dispose them off as per Clause 42 by sale or auction on account of and at the risk of the successful e-tenderer who will have no claim for loss or compensation on this account.

#### **44. ARBITRATION**

(a) Except where otherwise provided in the contract all questions and disputes relating to the meaning of the specifications, design, drawing, and instructions hereinbefore mentioned and so to any question, claim right, matter or thing whatsoever, in any way arising out of or relating to the contract, designs, drawings, specifications, estimates, instructions, orders or these conditions or otherwise concerning the works, or the execution of the same whether arising during the progress of the work or after the completion or abandonment thereof but excluding disputes on material and workmanship as per Clause 17 & 18 which is binding on both parties, shall be referred to the sole arbitration of a person nominated by the Director General, National Council of Science Museums and if the former is unable or unwilling to act to the sole arbitration, of some other person appointed by the Director General, NCSM willing to act as such arbitrator. The submission shall be deemed to be submission to Arbitration under the meaning of the Arbitration & Reconciliation Act, 1996 or any statutory modification or re-enactment thereof for the time being in force. The award of arbitrator so appointed shall be final, conclusive and binding on all parties to this contract.

- (b) It is agreed that the Successful e-tenderer shall not delay the carrying out of the work by reasons of any reference to arbitration and shall proceed with the work with all due diligence and shall, until the decision of arbitration, abide by the decision of the Engineer duly conveyed to him.
- (c) The Arbitrator(s) may from time to time with the consent of the parties, extend the time for making and publishing the award.

#### 45. COMPENSATION

All sums payable by way of compensation or liquidated damage under any of these conditions shall be considered as reasonable compensation to be applied to the use of Museum/Centre without reference to the actual loss or damage sustained and whether or not any damage shall have been sustained.

### **46. WORK ON HOLIDAYS**

Successful e-tenderer shall not carry out work on any Government holidays except with the permission of the Engineer. The contract period will be inclusive of such holidays.

#### 47. WORK SUPERVISOR AND FOREMAN

The Successful e-tenderer shall keep a qualified and experienced Engineer for supervision of works to ensure best quality work. He shall also give all necessary personal superintendence during the execution of the works and as long thereafter as the Engineer may consider necessary until the expiration of the 'Defect Liability Period' stated in Clause 20 above. The Successful e-tenderer shall also during the whole time, the works are in progress, and employ competent Foreman approved by the Engineer whose qualification must conform to the requirements specified by the Engineer. In special cases he shall be constantly in attendance of the building while the men are at work. Any directions, explanations, instruction or notices given by the Engineer to such Foreman shall be held to be given to the Successful e-tenderer.

#### 48. DISMISSAL OF WORKMEN ETC.

The Successful e-tenderer shall on the request of the Engineer immediately dismiss from the works any person employed thereon who may, in the opinion of the Engineer be unsuitable or incompetent or who may in the opinion of the Museum/Centre or the Engineer misconduct himself and such person shall not be again employed or allowed on the works without the written permission of the Engineer and/or the Museum/Centre.

# 49. ASSIGNMENT OR SUBLETTING OR BRIBES

(a) This contract shall not be assigned or sublet without the written approval of the Museum/Centre. If the Successful e-tenderer shall assign or sublet this contract, or attempts to do so or become insolvent or commence insolvency proceedings or make any composition with his creditors or attempt to do so, or if any bribe, gratuity, gift, loan, pre-requisite award, reward or advantage pecuniary or

otherwise, shall either directly or indirectly be given, promised or offered by the Successful e-tenderer, any of his servants or agents to any officer of the Museum/Centre or to persons who shall become in any way directly or indirectly interested in the Contract, the Museum/Centre may thereupon by notice in writing rescind the contract and the retention money of the Successful e-tenderer shall thereupon stand forfeited and be absolutely at the disposal of the Museum/Centre, and the same consequences shall ensure as if the contract had been rescinded under Clause 42 thereof and (in addition) the Successful e-tenderer shall not be entitled to recover or to be paid for any work therefore actually performed under the contract.

(b) The whole of the works including the contract shall be executed by the Successful e-tenderer and he/they shall not directly or indirectly transfer or assign or underlet the contract or any part, share or interest therein nor shall he take a new partner without the written consent of the Museum/Centre and no subletting shall relieve the Successful e-tenderer from the full and entire responsibility of the contract or from active superintendence of the works during the progress.

### 50. OTHER PERSONS ENGAGED BY MUSEUM/CENTRE

The Museum/Centre reserves the right to use the premises and any portion of the site for the execution of any work not included in this contract, which he may desire to have carried out by other persons, and the successful e-tenderer shall allow all reasonable facilities for the execution of such work, but is not required to provide any plant or materials for the execution of such works except by special arrangement with the Museum/Centre.

### 51. OTHER AGENCIES AND PROVISIONAL SUMS

- (a) The Successful e-tenderer is to afford all reasonable facilities to all other agencies, subagencies, specialists, merchants, tradesman and others who may at any time be appointed by the Engineer with the consent of the Museum/Centre for executing any work or supplying any goods relating to the constructions, servicing, equipping or furnishing of the building under construction or in the compound. In case of delay in completion of his work due to other agencies' work, the Successful e-tenderer shall only have a right to ask for extension of time but no other claim on this or any other account shall be entertained by the Museum/Centre.
- (b) If any provisional sum is included in the bill of quantities they are to be deducted wholly if not required or in part the Museum/Centre reserves to itself the right to appoint any agency to do the work allowed for in provisional sums and the successful e-tenderer shall not have any right to claim any profits on this account.

# **52. LABOUR WAGES AND REGULATIONS**

Notwithstanding any contained in the conditions of this contract the Successful e-tenderer shall comply with the provision of the contract labour (Regulation & Abolition) Act 1970 and various rules framed thereunder by different State Government, in respect of all labourers directly or indirectly employed by the Successful e-tenderer in the works through

labour contracts or otherwise the Successful e-tenderer shall be considered as "Principal Employer".

The Successful e-tenderer agrees to grant Provident Fund benefits in accordance with Employees Provident Fund Act 1962 and Scheme thereunder to his workers. The successful e-tenderer shall pay not less than "fair wages" to labourers engaged by him on the work. No labour below the age of fourteen years shall be employed. The successful e-tenderer shall at his own expense provide or arrange for provision of footwear for any labour doing cement mixing work.

#### 53. INSURANCE FOR DAMAGE TO PERSONS AND PROPERTY

- (a) The Successful e-tenderer shall be responsible for all injury to persons, animals or things and for all damages to property, structural and decorative, whether such injury or damage arise from carelessness or accident or in any way connected wherewith. This clause shall be held to include, interalia, any damage due to causes as aforesaid to buildings (whether immediately adjacent or otherwise) and to roads, streets, footpaths, bridges or ways as well as all damage caused to the buildings and works forming the subject of this contract by the inclemency of weather. The Successful e-tenderer indemnifies the Museum/Centre and holds him harmless in respect of all expenses arising from such injury or damage to persons or property aforesaid and also in respect of any claim made in respect of injury or damages consequent upon such claim.
- (b) The successful e-tenderer shall reinstate all damage of every sort mentioned in this clause, so as to deliver up the whole of the contract works complete and perfect in every respect and so as to make good and otherwise satisfy all claims for damage as aforesaid to the property or third parties.
- (c) The Successful e-tenderer also indemnifies the Museum/Centre against all claim which may be made upon the Museum/Centre during the currency of this contract by any employee or representative of an Employee of the agency, or any sub-agency, employed by him, for any injury to or loss of life or such employees, or for compensation payable under any law for the time being in force to any workman or to the representative of any deceased or incapacitated workmen.
- (d) The Successful e-tenderer also indemnifies the Museum/Centre in respect of any costs, charges and/or expenses, including legal costs as between Solicitor and client, occurring out of any award of compensation and/or damages consequent upon such claims.
- (e) The Museum/Centre shall be at liberty and is hereby empowered to deduct the amount of any damages, compensation cost, charges and/or expenses arising or ascertaining from or in respect of any such claim and/or damages as aforesaid from any sum, or sums due to, or become due to the Successful e-tenderer.

### 54. NOTICE

Notice for the Museum/Centre, the Engineer or the Successful e-tenderer may be served personally or sent by registered post addressed to the office of the Museum/Centre or the last known place of business of the Engineer and the Successful e-tenderer or in the case

of the successful e-tenderer also be being left on the works. Any notice sent by registered post shall be deemed to be served at the time when in the ordinary course of post, it would be delivered.

### 55. APPOINTMENT OF APPRENTICES AS PER APPRENTICES ACT

The Successful e-tenderer shall during the currency of the contract when called upon by the Engineer engage and also ensure engagement by sub-agencies and other employed by the successful e-tenderer with the works such number of apprentices in categories mentioned below and for such periods as may be required by the Engineer. The Successful e-tenderer shall train them as required under the Apprentices Act 1961 and the Rules made thereunder and shall be responsible for all obligations of the Museum/Centre under the said act including the liability to make payments to apprentices as required under the said Act.

(a) In Respect of Civil works

(i) Brick Layer : One apprentice for every 7 person

engaged in this category

(ii) Building : One apprentice for every 7 persons

Construction engaged in this category

(iii) Carpenter : One apprentice for every 7 persons

engaged in this category

(iv) Surveyor : One apprentice for every 14 persons

engaged in this category

(b) In respect of Sanitary and Water Supply

Plumber : One apprentice for every 2 persons

engaged in this category

(c) In respect of Electrical Works

Wireman : One apprentice for every 7 persons

engaged in this category

The Successful e-tenderer shall comply with the provision of Apprentices Act 1961 and Rules and Orders issued hereunder from time to time.

If the Successful e-tenderer fails to do so, his failure will be deemed to be a breach of contract and the Museum/Centre reserves the right to cancel the contract. The Successful e-tenderer also shall be liable to any pecuniary liability arising on account of any violation by him of the provisions of the Act.

# 56. CEMENT & STEEL (for civil works only) – Not applicable as no materials shall be supplied departmentally.

Steel and Cement shall be supplied by the Museum/Centre to the Successful e tenderer as stated in appendix to the NIT. If for any reason cement and steel is not available, the Successful e-tenderer shall procure the same and complete the work in time after due

intimation of the same to the Engineer. The quantities brought by the Successful e-tenderer would be replenished to the Successful e-tenderer at issue rates given in appendix when received, during or after completion of work but before payment of final bill. It shall be the Successful e-tenderer's sole responsibility to ensure that the quality of cement so brought conforms to required standard as specified and support this with Test Certificate for such consignments brought by him and allowed on the works by the Engineer. If steel of required diameters is not available but the Successful e-tenderer could get substituted diameters by exchanging available diameters, in the interest of work, such an exchange would be authorised with the permission of the Engineer but without any extra cost to Museum/Centre. Successful e-tenderer's rates shall be deemed to have been based on issue rates of cement and steel given in the appendix sheet of e-tender and they shall have to use materials issued departmentally as per appendix.

Successful e-tenderer shall not refuse to receive marginal excess of cement and steel, quantities over and above as shown in the phased programme, if required so as and approved by the Engineer and such storage shall be without any extra cost to the Museum/Centre.

Receipt of cement and steel from the Museum/Centre's store should be carried out in quickest possible time by the Successful e tenderer as a bulk supply, once the issue of stores is commenced at site, and without hampering the progress of the work at site.

Receipt of stores will include submitting indent in duplicate to the Museum/Centre at least two days prior to intended date of receipt. No stores shall be issued on Sundays and Holidays.

# 57. REGARDING WEIGHT OF MATERIALS SUPPLIED BY THE MUSEUM/CENTRE (for civil works only)- Not applicable

When cement is issued in bags, 5% variation in its weight shall be deemed to have been allowed for loss in handling. Each bag shall be deemed to weigh 50 Kg. The successful etenderer shall ensure that the correct quantity and only good quality cement is used on the works.

For reinforcement steel (mild or tor rounds, the weight for issue purpose and recoveries of cost thereof, shall be the actual weight i.e. R.R (Railway Receipt) weight or mill scale weight if supplied by wagon direct or truck weigh bridge weight recorded at producer's works or supplier's stockyard if delivery is by road.

If steel is issued from the Museum/Centre's store the successful e-tenderer should arrange for necessary labour for weighment and shifting, loading etc. without any extra cost to the Museum/Centre. Steel may, alternatively, be issued by measurement of lengths (for which labour will be arranged by the successful e-tenderer, at his cost) multiplied by standard coefficients. However, the cost of issued steel will be recovered on the basis of weights indicated in the R.R. (Railway Receipt) or weigh bridge challans issued by the concerned authority owning the weigh-bridge. Cost of recoveries of steel will be on the basis of weight recorded on the approved Weigh bridge challan irrespective of the method of measurement of steel on the works. It shall be the sole responsibility of the Successful e-tenderer to use appropriate diameter of rods for reinforcement in different structural components in

accordance with the drawings and any damage to the structural members for non-conformation to specifications and drawings shall be made good by the successful e-tenderer without any extra cost to the Museum/Centre. Since payment for steel would be made on basis of standard co-efficient on length, the successful e-tenderer should ensure that each dia of rods issued conform to standard co-efficient, and in case it is not, he should at once report to the Engineer and get standard co-efficient established for specific diameter and specific quantity. Weight of steel shall be measured correct to three decimal places. Standard co-efficient will be established in presence of (a) Successful e-tenderer's representative (b) stores officer or his representative (c) the Engineer.

Steel issued by the Museum/Centre as stated in appendix sheet shall mean mild steel rounds and tor steel to be used exclusively for RCC works. Steel for holdfasts, squares, flats, etc. are to be procured by the Successful e-tenderer.

### 58. RETURN OF STEEL (for civil works only)- Not applicable

While receiving the surplus steel back from the successful e tenderer after the end of the project, the Museum/Centre shall not accept cut pieces less than 3 meters of length. The Successful e tenderer should take care while cutting rod that the wastage is minimum i.e. he should cut required lengths in such a way that maximum steel is used out of quantity supplied or as directed at site by the Engineer. Variation over 5% will be allowed by the Engineer, if he is satisfied about abnormal wastage.

# 59. CEMENT CONSUMPTION (for civil works only)- Not applicable

If the actual consumption of cement is more (upto 5% over theoretical consumption) or less (upto 5% below theoretical consumption) no additional recovery shall be made from the Successful e-tenderer. If the actual consumption exceeds 5% over the theoretical consumption, successful e tenderer shall have to return the surplus cement issued over 5% allowable margin and if he fails to do so, recovery for excess cement shall be made at issue rate or market prevailing on completion date whichever is higher in lieu of issue rate. If however the Engineer is satisfied that excess cement over 5% has actually been used in the work including rectification and dismantled work, and that it has not been removed by the successful e-tenderer from site nor used wastefully, he may allow excess over 5% by waiving recovery at higher rate and his decision in this regard shall be final and binding. If the cement used is less than 5% and the work is of acceptable standard, recovery for cement less used shall be made at issue rates + 15% successful e tenderer's overheads and profits after allowing 5% variation. C.P.W.D. Cement constants will be used for calculating theoretical cement consumption. 10% excess of cement consumption on hand mixed concrete, if hand mixing is permitted by the Engineer due to any reason, shall not be recovered from the successful e tenderer, unless such consumption is due to the successful e-tenderer's faulty equipment.

# 60. CONCEALED R.C.C. BEAMS/LINTELS (for civil works only)

If in R.C.C. slab extra bars or steel cage is provided to act as a lintel or beam over an opening, the same will be measured as slab and not as beam/lintel. If in case of R.C.C. wall,

extra bars or steel cage is provided to act as a lintel or beam over an opening, the same will be measured as wall and not as lintel/beam. R.C.C. column integrated in shear wall shall be measured as wall if of same thickness, and as R.C.C. column if its thickness is more than that of shear wall.

# 61. PROJECTION (for civil works only)

Slab projection from the face of wall/column shall be measured under item R.C.C. work in slabs and not under item R.C.C. work in Chajjas.

# **62. DRIP GROOVE (for civil works only)**

The Successful e-tenderer shall provide drip groove at all ends of slabs/lintels/beams, if required, to protect rain water from entering inside the boundary of the structure, within quoted rates of R.C.C. work.

# **63. PLASTERING ON RCC SURFACE (for civil works only)**

Wherever R.C.C. surface is to be plastered to bring it in line with the brick and/or stone wall plaster of the same mix, payment for such plaster, will be made under the item of plastering only irrespective of the fact whether there is any increase due to odd or even surface of brick or stone work below and/or adjoining it.

# **64. M.S. REINFORCEMENT** (for civil works only)

Rate quoted for placing in position and fabrication of mild steel/ribbed tor/TMT steel reinforcement should include for straightening and cleaning including removing the rust of the bars at works site, cutting, cranking, hooking hoisting at required levels, cost of providing binding wire of 18 to 20 SWG etc. complete and no separate payment will be made on this account. Payment for reinforcement, however, to be considered on the basis of measurement as per drawing plus standard laps actually provided at site, plus chairs and spacing bars allowed by the Engineer.

# 65. BRICK WORK (for civil works only)

Rate shall include for tapering of bricks over column footings, over walls, steps, etc. and for exposed brick work, or any other work. Rate for brick work also includes work in pillars and small horizontal courses.

# 66. BRICK WORK(S) HEIGHTS/DEPTHS (for civil works only)

The height or width of foundation steps and superstructures will be measured as per actuals. The successful e-tenderer shall use suitable bricks and adjust the thickness of mortar joints to make up the widths or heights as per drawings, with due regard to size of brick available.

### 67. EARTHWORK

The measurements of earthwork in trenches for foundation, sewer lines etc. shall be made according to the section of trenches shown on the drawing. The successful e-tenderer shall

include in his rate excavating for stepping and slopping back, working space for workmen as found necessary on account of condition of soil. Excavation so made in excess shall not be measured & paid for.

#### 68. FORCE MAJEURE

# FORMAT FOR BANK GUARANTEE BOND (For EMD only)

- 3. We, (Name of Bank), do hereby undertake to pay the amounts due and payable under this guarantee without any demur, merely on a demand from the Museum/Centre stating that the amount claimed is due by way of loss or damage caused to or would be caused to or suffered by the Museum/Centre under National Council of Science Museums by reasons of any breach by the said prospective e-tenderer of any of the terms or conditions contained in the said NIT (including appendix) or by reason of the prospective e-tenderer's failure to comply with conditions contained in the said NIT relating to participation in the e-tender. Any such demand made on the Bank shall be conclusive as regards the amount due and payable by the bank under this guarantee. However, our liability under this guarantee shall be restricted to an amount not exceeding (mention amount of EMD in figures and words) only.
- 4. We, (Name of Bank) further agree that the guarantee herein contained shall remain in full force and effect during the period as mentioned in Clauses 26 and 27 of the said NIT (including appendix) or the period stipulated under clause 28 for deciding the e-tender and that it shall continue to be enforceable till the dues of the Museum/Centre under or by virtue of the said NIT (including appendix) have been fully paid and its claims satisfied or discharged or the Museum/Centre certified that the terms and conditions of the said NIT (including appendix) have been fully and properly honored and carried out by the said prospective e-tenderer for participation in the e-tender and accordingly discharges the guarantee. Unless a demand or claim under this guarantee is made on us in writing on or before the periods stipulated above, we shall be discharged from all liability under this guarantee thereafter.
- **5.** We, (Name of the Bank) further agree with the Museum/Centre that they shall have the fullest liberty without our consent and without affecting in any manner our obligation hereunder to extend time of deciding the e-tender as may be expedient and to forbear or

enforce any of the terms and conditions relating to the NIT (including appendix) and we shall not be relieved from our liability by reason of any such extension being granted to the said proposed e-tenderer for any forbearance, or act of omission on the part of the Museum/Centre or any indulgence by the Museum/Centre to the said proposed e-tenderer or by any such matter or thing whatsoever which under the law relating to surety.

6. We, (Name of the Bank) lastly under except with the previous consent of the	ertake not to revoke this guarantee during its currency ne Museum/Centre in writing.
Dated, the	Day of
	For
	(Authorised signatory of the Bank with Seal)

# FORMAT FOR BANK GUARANTEE BOND \*

(For Performance Guarantee/Retention Money only)

1.	In consideration of the
	Museum/Centre") having agreed to exempt
	••••
	(Hereinafter called the "successful e-tenderer' from the demand, under Clause 16 of the Notice inviting E-tender No
	for
	do hereby undertake to pay to the Museum/Centre an amount not exceeding Rs
2.	We,
	work acceptable only if furnished by any of the Nationalised Banks.)

3.	We,
	We shall be discharged from all liability under this guarantee thereafter.
	We,
	Dated, the
	For(Authorised signatory of the Bank with seal)

Sub: Letter of Intent for the work of
Dear Sirs,
With reference to your e-tender dated
(Value based on only items of work intended to be awarded for execution)
You are, therefore, requested to sign an agreement as per standard format already printed in the e-tender documents purchased by you while e-tendering for this job. For this purpose, you are requested to send us a non-judicial stamp paper of appropriate value for preparing the contract Agreement within a week from the date of this letter.
You may avail of 07days mobilization time from the date of issue of this letter of Intent for mobilizing your men, materials and other necessary resources for the construction. During mobilization period, you are requested to study all the drawings and designs annexed hereto and the Bar-Chart and obtain clarifications from the architect or this office immediately.
Please note that the work has to be completed within
days is also included. The date of commencement of work would be reckoned as the date of issue of this letter (as per clause 10 (v) & 26 of NIT).
Thanking you,
Yours faithfully,

Deputy Controller of Administration

Sd/-

Letter of intent is to be issued in the letter head of the parent Museums/Centers and a Xerox copy is to be maintained as office copy on which signature of the authorized representative of the successful e-tenderer is to be obtained with date at the time of issue of original letter of intent. # Delete words within brackets if not applicable in specific case.

# FORMAT FOR ARTICLES OF AGREEMENT INSTRUCTIONS (not to be typed in Agreement)

(Articles of Agreement have to be typed on non-judicial stamp paper. The value of the stamp paper varies from state to state and is to be known from the particular place. The stamp paper will be purchased by the successful e-tenderer and the agreement may be typed by the Museum/Centre according to the format.)

ARTICLES OF AGREEMENT made at
(Place)
this day of
(Date) (Month & Year)
between the
(Name of the parent Museum/Centre)
(under the National Council of Science Museums, a Society registered under the Societies
Registration Act of West Bengal, 1961), hereinafter referred to as the Museum/Centre which
expression shall include its successors and assigns on the one part
and
·········
(name of the successful e-tenderer)
trading in the name and style of
(Name and complete address of the successful e-tenderer)
hereinafter referred to as the successful e-tenderer which expression shall include his/their
respective heirs, executors, administrators and assigns on the other part.
WHEREAS the Museum/Centre is desirous of getting the work of
therein done and has caused
(Name of the work)
Notice Inviting E-tender (Including appendix), drawings, schedule of quantities and
specifications describing the work and conditions of contract to be prepared
by
(Name and address of the Architect).

.....

(exact amount in words)

the amount being 2.5% of the estimated value of the e-tender rounded off to the nearest hundred) with the Museum Centre as Initial Security for the due performance of this Agreement as provided in the said conditions. In the case of Bank Guarantee, the period of Bank Guarantee referred to being valid until the defect liability period as specified in e-tender and to be revalidated to required dates as demanded by the Museum/Centre if completion date is extended.

NOW IT IS HEREBY AGREED AND DECLARED BY AND BETWEEN THE PARTIES HERETO AS FOLLOWS:

- 2. The Museum/Centre shall pay to the successful e-tenderer such sum as shall become payable hereunder at the time and in the manner specified in the said conditions.
- 3. Time is the essence of this agreement and the successful e-tenderer shall proceed with the work, throughout the stipulated period of this contract, strictly according to the CPM/PERT/BAR CHART attached herewith and forming a part of this agreement. At any stage during execution, if any work lags behind the target as indicated in the CPM/PERT/BAR CHART for reasons directly attributable to the successful e-tenderer, he shall pay or allow the Museum/Centre to deduct from any money due to him a liquidated damage as per Clause 39 of the conditions of contract.
- 4. This agreement comprises the work above and all subsidiary works connected therewith, even though such works may not be shown on the drawings, or described in the said specifications or the priced Schedule of Quantities.
- 5. The Museum/Centre through the Engineer (As defined under clause 2 of General conditions of contract) reserves to itself the right of altering the drawings and of adding to or omitting any item of work or of having portions of the same carried out departmentally or otherwise and such alterations or variations shall not vitiate this agreement.

6. All disputes and differences of any kind whatever except as excluded under Clause 2 of General Conditions of contract appended herewith, arising out of or in connection with the contract on the carrying out of works (Whether during the progress of the work or after their completion and whether before or after the determination, abandonment or breach of the contract) shall be referred to arbitration as per Clause 44 of the said conditions of contract. In case of any legal dispute, other than the arbitration, the court of jurisdiction shall be at the place written in the first line of this agreement.

The provisions of the Arbitration & Conciliation Act 1996 or any statutory modification or re-enactment thereof and of the rules made there under for the time being in force shall apply to arbitration proceedings under this clause.

# 7. GUARANTEE TO BE EXECUTED BY SUCCESSFUL E-TENDERER FOR REMOVAL OF DEFECTS AFTER COMPLETION OF WORK IN RESPECT OF WATER PROOFING WORKS:

The successful e-tenderer, undertook to render the buildings and structures in the said contract recited completely water and leak proof.

And whereas the successful e-tenderer agreed to give a guarantee to the effect that the said structures will remain water / leak proof for five years from the date of completion of work.

Now the successful e-tenderer hereby guarantees that water proofing treatment given by him will render the structures completely leak proof and the minimum life of such water proofing treatment shall be five years to be reckoned from the date completion of work.

Provided that the successful e-tenderer will not be responsible for leakage caused by earthquakes or structural defects or misuse of roof or alterations and for such purpose

- A. Misuse of roof shall mean by operation, which will damage roofing treatment, like chopping of firewood and things of the same nature, which might cause damage to the roof.
- B. Alteration shall mean construction of an additional storey or a part of roof or construction adjoining to existing roof, where by roofing treatment is removed in parts.

The decision of the Engineer-in-Charge with regard to cause of leakage shall be final.

During this period of guarantee i.e. 05 years, the successful e-tenderer shall make good all defects and in case of any defects being found, render the building water proof at his own cost, to the satisfaction of the Engineer-in- Charge and shall commence the work for such rectification within seven days from the date of issue of the notice from the Engineer-in-Charge calling upon him to rectify the defects, failing which the work shall be got done by Department through some other contractor at the successful e-tenderer's cost and risk. The decision of the Engineer-in-Charge as to the cost, payable by the successful e-tenderer shall be final and binding.

That if the successful e-tenderer fails to execute the necessary rectification or commits breach there under then the Guarantor will indemnify the Principal Employer and his successors against all loss, damage, cost expense or otherwise which may be incurred by him by reasons of any default on the part of successful e-tenderer in performance and observance of this supplementary agreement. As to the amount of loss and / or damage and / or cost incurred by the Centre/ Museum, the decision of the Engineer-in-Charge will be final and binding on the parties.

In witness whereof the parties have set their respective hands the day and the year and the
place hereinabove written.  Signed by for and on behalf of the Museum/Centre
(Administrative Officer)
In the presence of
1
Seal (Finance & Accounts Officer)
2
(Project Co-coordinator/Engineer)
Signed by the said Successful e-tenderer
In the presence of
(1)
(2)

# FORMAT FOR BOND FOR SECURED ADVANCES AGAINST SUPPLY OF MATERIALS

KNOW ALL MEN by these presents that I/WE	
respective heirs, executors, administrators and assigns to p	ay to the
nder the National Council of Science Museums a Society in Registration Act, 1961 (hereinafter called 'The Museum/C	registered under the Societies Centre') on demand a sum of Rs
only).  Dated thisday of	
WHEREAS by an agreement dated	for work
the Museum/Centre has agreed in its discretion to allow ac belonging to me/us and brought by me/us to the site of the construction purposes.  AND WHEREAS the Museum/Centre has agreed to advant Rs(Rupees	lvance on security of materials works undertaken by me/us for nce to me/us a sum of
nly). on the security of materials shown in the schedule below a granted advance of Rs	and the said Museum/Centre has
KNOW ALL MEN by these presents that I/WE	
respective heirs, executors, administrators and assign	by bind myself/ourselves, my/our
nder the National Council of Science Museums a Soc Registration Act, 1961 (hereinafter called 'The Museum (Rupees	n/Centre') on demand a sum of Rs

Dated thisday oftwo thousand and
WHEREAS by an agreement dated
the Museum/Centre has agreed in its discretion to allow advance on
security of materials belonging to me/us and brought by me/us to the site of the works
undertaken by me/us for construction purposes.
undertaken by me, as for construction purposes.
AND WHEREAS the Museum/Centre has agreed to advance to me/us a sum of
Rsonly).on the security of
materials shown in the schedule below and the said Museum/Centre has granted advance of
RsNOW THE CONDITIONS OF THE SAID WRITTEN OBLIGATION
IS THAT IN THE EVENT OF THE SAID BOUNDEN
(a) not using the sum advanced for expediting the execution of the works under the said
contract.
(b) offering as security properly, not absolutely his own property or encumbered in any manner.
(c) not acting in accordance with the terms of the agreement for the execution of the work.
(d) failing to make at his own cost all necessary and adequate arrangements for the proper
watch, safe custody and protection against all risks of the materials which shall remain in
the site of the said works in his own custody and at his responsibility, open to inspection by
the Museum/Centre or any officer authorised in that behalf.
(e) using the materials or any part thereof in such a manner as to be damaged or deteriorated in
a greater degree than is due to usual wear and tear thereof.
(f) removing the said materials from the site of works except with the written permission of the
Museum/Centre or any officer authorised in that behalf.
(g) failing to repay the advance in full before receiving payment of the price payable to him for
the said work under the terms and the provision of the said agreement.  (h) defaulting in the performance or observance in any respect of any of the terms and the
provisions of the agreement.
(i) or committing a breach in any manner whatsoever of any other terms of the contract or
default in repayment of the money
AND upon his making such payment the above written obligation shall be void and of no
effect, otherwise, it shall be and remain in full force and vital.
Provided always that it is hereby agreed and declared the decision of the Museum/Centre as to
whether the saidhas or has not performed the obligations and observed the
conditions hereinbefore recited shall be final and binding on the successful e-tenderer.
Signed by the above bounden
in the presence of
(1)
(2)
(2)

# **National Science Centre**

( A Unit of National Council of Science Museums )

Near Gate No- 4 Pragati Maidan

**New Delhi -110001** 

# **Bill of Quantities**

Name of work: Repair and renovation of Visitors Toilets in New Building, Staff toilets in office block and Guest Rooms at Regional Science City, Lucknow.

S. No.	Description	Unit	Qty	Rate i/c 18% @ GST	Amount i/c 18% @ GST
Part-	I (Civil work)				
A)	Dismantling and Demolishing				
A-1	Carefully dismantling of existing toilets fixtures,				
	G.I Pipes including concealed pipes, C.I. Soil and waste pipes, floor traps, and P-traps etc. in floor,				
	waste pipes, floor traps, and r-traps etc. in floor, wall and shaft, stacking the same as directed (visit				
	site for more details as per NIT)				
i)	For Gents toilet in New Building block at GF Floor	L.S	1	3000.00	3000.00
ii)	For Ladies toilet in New Building block at GF				
	Floor	L.S	1	3000.00	3000.00
iii)	For Handicapped toilet in New Building block at GF	T C	1	1000.00	1000.00
iv)	Floor For Ladies and Gents toilet in New Building block	L.S.	1	1000.00	1000.00
10)	at 1st Floor	L.S	1	2000.00	2000.00
v)	For PC's toilet, Officers, Ladies and Gents toilet in	L.S	1	2000.00	2000.00
\ '	Old Building block at Ground Floor	L.S	1	2500.00	2500.00
vi)	For 2 toilet in Guest Room at Ground Floor	L.S	1	1500.00	1500.00
A-2	Demolishing cement concrete manually/by	1.5		1200.00	1200.00
	mechanical means including disposal of material				
	within 50 metres lead as per direction of Engineer -				
:)	in - charge.				
i)	Nominal concrete 1:3:6 or richer mix (i/c equivalent design mix)		<i>c</i> 50	2424.25	15000 60
ii)		Cum	6.50	2434.25	15822.63
11)	Nominal concrete 1:4:8 or leaner mix (i/c equivalent design mix)	Cree	10	1502.60	15026.00
A-3	Demolishing R.C.C. work including Guniting (up to	Cum	10	1503.60	15036.00
11-3	50 mm thickness) manually/ by mechanical means				
	including stacking of steel bars and disposal of				
	unserviceable material within 50 metres lead as per				
A 4	direction of Engineer - in- charge.	Cum	5	3551.25	17756.25
A-4	Demolishing brick work manually/ by mechanical means including stacking of serviceable material				
	and disposal of unserviceable material within 50				
	metres lead as per direction of Engineer-in-charge.				
	In cement mortar	Cum	10	2060.20	20602.00

		T	otal of S	Section - A Rs.	194033.13
	50 meters lead as directed by Engineer-in-charge.	Sqm	15	56.35	845.25
	partitions, doors, windows, fixed glazing and false ceiling including disposal of unserviceable surplus material and stacking of serviceable material within				
A-12	Dismantling aluminium/ Gypsum/ wooden	Sqm	980	25.15	24647.00
	proofing cement paint and the like by scrapping, sand papering and preparing the surface smooth including necessary repairs to scratches etc. complete.				
A-11	Removing dry or oil bound distemper, water	·- · <b>1</b>	- 7 -	- 100	
	and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	Sqm	300	54.65	16395.00
A-10	Dismantling old plaster or skirting raking out joints	- Sqiii	- 50	120.50	21123.00
ii	bituminous road	Sqm	50	428.50	21425.00
i	Water bound macadam road	Sqm	50	217.45	10872.50
A-9	Dismantling manually/ by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as per direction of Engineer-in-charge:	2001		200170	, v
ii	Of area beyond 3 sq. metres	Each	5	188.90	944.50
i	Of area 3 sq. metres and below	Each	15	143.50	2152.50
A-8	Taking out doors, windows and clerestory window shutters (steel or wood) including stacking within 50 metres lead:				
ii	Of area beyond 3 sq. metres	Each	5	502.75	2513.75
i	Of area 3 sq. metres and below	Each	15	367.20	5508.00
A-7	Dismantling doors, windows and clerestory windows (steel or wood) shutter including chowkhats, architrave, holdfasts etc. complete and stacking within 50 metres lead				
	and disposal of unserviceable material within 50 metres lead.	Sqm	20	266.45	5329.00
A-6	Dismantling stone slab flooring laid in cement mortar including stacking of serviceable material				
ii	For thickness of tiles above 25 mm and up to 40 mm	Sqm	25	113.35	2833.75
i.	For thickness of tiles 10 mm to 25 mm	Sqm	250	73.40	18350.00
A-5	Dismantling tile work in walls, floors and roofs laid in cement mortar including stacking material within 50 metres lead.				

<b>B</b> )	General Civil Works				
B-1	Providing and laying cement concrete in retaining walls, return walls, walls (any thickness) including attached pilasters, columns, piers, abutments, pillars, posts, struts, buttresses, string or lacing courses, parapets, coping, bed blocks, anchor blocks, plain				
	window sills, fillets, sunken floor etc., below plinth and up to floor five level, excluding the cost of contaring abuttering and finishing.				
i	centering, shuttering and finishing:  1:2:4 (1 cement : 2 coarse sand (zone-III) : 4 graded stone aggregate 20 mm nominal size).	Cum	7.00	7780.30	54462.10
ii	1:3:6 (1 Cement : 3 coarse sand (zone-III) : 6 graded stone aggregate 20 mm nominal size).	Cum	5.00	7294.70	36473.50
iii	1:5:10 (1 cement : 5 coarse sand (zone-Ill) derived from natural sources : 10 graded stone aggregate 40 mm nominal size derived from natural sources)	Cum	4	6518.60	26074.40
B-2	Providing and laying reinforced cement concrete in kerbs, steps and the like at or near ground level excluding the cost of centering, shuttering, finishing and reinforcement with 1:1.5:3 (1 cement : 1.5 coarse sand (zone-III) derived from natural sources : 3 graded stone aggregate 20 mm nominal size				
B-3	derived from natural sources).  Repair to plaster of thickness 12 mm to 20 mm in patches of area 2.5 sqm and under, including cutting the patch in proper shape, raking out joints and preparing plastering the wall surface with white cement based polymer modified self-curing mortar, including disposal of rubbish, all complete as per the direction of Engineer-In-Charge.	Cum	23	8821.65 670.95	35286.60 15431.85
B-4	Centering and shuttering including strutting, propping etc. and removal of form for	~ 4			
i	Suspended floors, roofs, landings, balconies and access platform	Sqm	13	927.25	12054.25
ii	Lintels, beams, plinth beams, girders, bressumers and cantilevers	Sqm	5	736.40	3682.00
iii	Weather shade, Chajjas, corbels, shelves, kitchen/platform etc., including edges	Sqm	20	951.10	19022.00
B-5	Extra for providing and mixing water proofing material in cement concrete work in doses by weight of cement as per manufacturer's specification.	per bag of 50kg cement used	15	18.15	272.25
B-6	Steel reinforcement for R.C.C. Work including straightening, cutting, bending, placing in position and binding all complete above plinth level.				
i	Cold twisted bars	Kg	100	107.85	10785.00

B-7	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level in all shapes and sizes in :				
i	Cement mortar 1:6(1 cement : 6 coarse sand)	Cum	15	9105.95	136589.25
B-8	Half brick masonry with common burnt clay F.P.S. (non-modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level.				
i	Cement mortar 1 : 4 (1 cement: 4 coarse sand)	Sqm	30	1123.80	33714.00
B-9	Cutting holes up to 30x30 cm in walls including making good the same: With common burnt clay F.P.S. (non-modular) bricks	Each	15	416.8	6252.00
B-10	Plastering				
i	12 mm plater Cement plaster 1:3(1 cement: 3 coarse sand) finished with a floating coat of neat cement.	Sqm	25	449.55	11238.75
ii	12 mm plater Cement plaster 1:6 (1 cement: 6 coarse sand)	Sqm	110	343.65	37801.50
iii	15 mm cement plaster on rough side of single or half brick wall of mix: 1:6(1 cement: 6 coarse sand)	Sqm	50	395.35	19767.50
B-11	Applying one coat of water thinnable cement primer of approved brand and manufacture on wall surface :				
i	Water thinnable cement primer	Sqm	10	73.95	739.50
B-12	Applying priming coat With ready mixed red oxide zinc chromate primer/wood primer of approved brand and manufacture on steel galvanised iron/steel/wooden works or any other surface as per instruction.	Sqm	10	67.40	674.00
B-13	Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.	Sqm	250	156.05	39012.50
B-14	Distempering with 1st quality acrylic distemper (ready mixed) having VOC (Volatile Organic Compound ) content less than 50 gram/ litre, of approved brand and manufacturer including applying additional coats wherever required to achieve even shade and colour				
i	Old work (one or more coats)	Sqm	200	62.70	12540.00
B-15	Distempering with 1st quality acrylic distemper (ready mixed) having VOC content less than 50 gram/litre, of approved manufacturer and of required shade and colour all complete to achieve even shade and colour:	-			
	New work (two or more coats) over and including water thinnable priming coat with cement primer having VOC content less than 50 gram/litre	Sqm	50	185.65	9282.50

B-16	Finishing walls with Premium Acrylic Smooth exterior paint with Silicone additives of required shade:				
i	New work (Two or more coats applied @ 1.43 Itr/10 sqm over and including priming coat of exterior primer applied @ 0.90 litre/10 sqm)	Sqm	50	171.10	8555.00
B-17	Painting wood work with Deluxe Multi Surface Paint of required shade. Two or more coat applied @ 0.90 ltr/10 sqm over an under coat of primer applied @0.75 ltr/10 sqm of approved brand and manufacture	Sqm	50	176.25	8812.50
B-18	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade:	Sqiii	30	170,23	0012.30
i.	Two or more coats on new work over an under coat of suitable shade with ordinary paint of approved brand and manufacture	Sqm	50	226.25	11312.50
B-19	French spirit polishing:				
i	One or more coats on old work	Sqm	70	224.80	15736.00
ii	Two or more coats on new works including a coat of wood filler	Sqm	10	446.25	4462.50
iii	Polishing on wood work with ready mixed wax polish of approved brand and manufacture : New work	Sqm	5	197.65	988.25
B-20	Wall painting with acrylic emulsion paint, having VOC (Volatile Organic Compound) content less than 50 grams/ litre, of approved brand and manufacture, including applying additional coats wherever required, to achieve even shade and colour.	Sqiii	3	177.05	700.23
i	One coat or more coat	Sqm	150	92.00	13800.00
ii	Two coats or more coat	Sqm	200	137.45	27490.00
B-21	Providing and laying compacted bed of dry brick aggregate mixed with available building rubbish including spreading, well ramming, consolidating and grouting with Cement mortar 1:6 (1 cement : 6 fine sand)., including finishing smooth etc. complete as per direction of Engineer-in-charge.				
		Cum	25	1993.5	49837.50
		T	Cotal of S	Section - B Rs.	662149.70

C)	Tiles and Stone works				
C-1	Providing and fixing 1st quality ceramic glazed wall				
	tiles conforming to IS: 15622 (thickness to be				
	specified by the manufacturer ) of approved make in				
	all colours, shades except burgundy, bottle green,				
	black of any size as approved by Engineer-in-				
	Charge, in skirting, risers of steps and dados over 12				
	mm thick bed of cement Mortar 1:3 (1 cement : 3				
	coarse sand) and jointing with grey cement slurry @ 3.3kg per sqm including pointing in white cement				
	mixed with pigment of matching shade complete.				
	(Sample of tiles can be approved having Basic				
	price renge of tiles including all taxes in between				
	Rs. 50.00 to Rs. 80.00 per Sqft in all sizes as may				
	be approved) (MAKES: JOHNSON/ SOMANY/				
	ASIAN/ KAJARIA/ ORIENT BELL )	Sqm	155	1267.95	196532.25
C-2	Providing and laying Ceramic floor tiles for toilet of	-			
	size 30cm x 60 cm/ 40cm x 40cm of approved shade				
	and design (thickness to be specified by the				
	manufacturer) of 1st quality conforming to IS:				
	15622 laid on 20 mm thick Cement Mortar 1:4 (1				
	Cement: 4 Coarse sand) including pointing the				
	joints with white cement and matching pigment etc.,				
	complete. (Sample of tiles can be approved				
	having Basic price renge of tiles including all				
	taxes in between Rs. 40.00 to Rs. 70.00 per Sqft) (MAKES: JOHNSON/ SOMANY/ ASIAN/				
	KAJARIA/ ORIENT BELL )	Sqm	100	1096.55	109655.00
C-3	Providing and laying vitrified floor tiles in different	Sqiii	100	1070.55	107033.00
	sizes (thickness to be specified by the manufacturer)				
	with water absorption less than 0.08% and				
	conforming to IS: 15622 of approved make in all				
	colours and shades, laid on 20mm thick cement				
	mortar 1:4 (1 cement : 4 coarse sand) including				
	grouting the joints with white cement and matching				
	pigments etc., complete. Size of Tile 600x600 mm				
	(Sample of tiles can be approved having Basic				
	price range of tiles including all taxes in between				
	Rs. 70.00 to Rs. 100.00 per Sqft) (MAKES:				
	JOHNSON/ SOMANY/ ASIAN/ KAJARIA/	Com	90	1552 45	124276 00
C-4	ORIENT BELL ) Providing and fixing 18 mm thick gang saw cut,	Sqm	80	1553.45	124276.00
C-4	mirror polished, pre-moulded and pre-polished,				
	machine cut for flooring, vanity counters, window				
	sills, facias and similar locations of required size,				
	approved shade, colour and texture laid over 20 mm				
	thick base cement mortar 1:4 (1 cement : 4				
	,				

	coarse sand), joints treated with white cement,				
	mixed with matching pigment, epoxy touch ups,				
	including rubbing, curing, moulding and polishing				
	to edges to give high gloss finish etc. complete at all				
	levels Granite of any colour and shade: Area of				
	slab over 0.50 sqm.	Sqm	15	5136.30	77044.50
C-5	Providing edge moulding to 18 mm thick marble	Sqiii	10	2120.20	77011120
	stone counters, Vanities etc., including machine				
	polishing to edge to give high gloss finish etc.				
	complete as per design approved by Engineer-in-				
	Charge. Granite work.	Mtr	25	510.95	12773.75
C-6	Extra for providing opening of required size &	1,141		210.52	12//3//5
	shape for wash basin/ kitchen sink in kitchen				
	platform, vanity counter and similar location in				
	marble/ Granite/ stone work, including necessary				
	holes for pillar taps etc. including moulding, rubbing				
	and polishing of cut edges etc. complete.	Each	18	978.70	17616.60
C-7	Kota stone slab flooring over 20 mm (average) thick			2 . 3 0	
,	base laid over and jointed with grey cement slurry				
	mixed with pigment to match the shade of the slab,				
	including rubbing and polishing complete with base				
	of cement mortar 1 : 4 (1 cement : 4 coarse sand) :				
	25 mm thick	Sqm	2	1948.25	3896.50
C-8	Providing and fixing 3mm thick ACP sheet of	Sqiii	2	1740.23	3670.30
	approved shade and make, pasted to one sides of				
	aluminium partition / base frame work with				
	approved quality double sided adhesive tape				
	including filling the joints with 6mm wide silicon				
	joint filler. Each side shall be measured.	Sqm	10	1140.00	11400.00
C-9	Providing and fixing stainless steel angle 25 x 25 x	Sqiii	10	1110.00	11100.00
	3 mm thick of end of wall corner with suitable				
	adhesive/silicon as per direction of Engineer-in-				
	charge.	Rmt	50	300.00	15000.00
			L	Section - C Rs.	568194.60
<b>D</b> )	False Ceiling	_			00025 1100
D-1	Providing and fixing tiled false ceiling of				
	specified materials of size 595x595 mm in true				
	horizontal level, suspended on interlocking metal				
	grid of hot dipped galvanized steel sections (				
	galvanized @ 120 grams/ sqm, both side inclusive)				
	consisting of main "T" runner with suitably spaced				
	•				
	made from 0.30 mm thick (minimum) sheet, spaced				
	at 1200 mm center to center and cross "T" of				
	size24x25 mm made of 0.30 mm thick (minimum)				
		1	Ì		1
	sheet, 1200 mm long spaced between main "T" at				
	joints to get required length and of size 24x38 mm made from 0.30 mm thick (minimum) sheet, spaced at 1200 mm center to center and cross "T" of size24x25 mm made of 0.30 mm thick (minimum)				

		1	ı		1
	mm and secondary cross "T" of length 600 mm and				
	size 24x25 mm made of 0.30 mm thick (minimum)				
	sheet to be interlocked at middle of the				
	1200x600 mm panel to form grids of 600x600 mm				
	and wall angle of size 24x24x0.3 mm and laying				
	false ceiling tiles of approved texture in the grid				
	including, required cutting/making, opening for				
	services like diffusers, grills, light fittings, fixtures,				
	smoke detectors etc. Main "T" runners to be				
	suspended from ceiling using GI slotted cleats of				
	size 27 x 37 x 25 x1.6 mm fixed to ceiling with 12.5				
	mm dia and 50 mm long dash fasteners, 4 mm GI				
	adjustable rods with galvanized butterfly level clips				
	of size 85 x 30 x 0.8 mm spaced at 1200 mm center				
	to center along main T, bottom exposed width of 24				
	mm of all T-sections shall be pre-painted with				
	polyester paint, all complete for all heights as per				
	specifications, drawings and as directed by				
	Engineer-in-charge.				
i	Mineral soft fiber false ceiling of approved design of				
	600 X600mm in size classic Litre or as approved				
	and mounted on grid frame work SHILLOTE of				
	ARMSTRONG (OPTRA) or of approved				
	equivalent make.	Sqm	4	1528.50	6114.00
ii	8 mm thick Calcium Silicate Board made with				
	Calcareous & Siliceous materials reinforced				
	with cellulose fiber manufactured through				
	autoclaving process.	Sqm	100	1572.30	157230.00
D-2	Providing and fixing false ceiling at all height	-			
	including providing and fixing of frame work made				
	of special sections, power pressed from M.S. sheets				
	and galvanized with zinc coating of 120 gms/sqm				
	(both side inclusive) as per IS: 277 and consisting				
	of angle cleats of size 25 mm wide x 1.6 mm thick				
	with flanges of 27 mm and 37mm, at 1200 mm				
	centre to centre, one flange fixed to the ceiling with				
	dash fastener 12.5 mm dia x 50mm long with 6mm				
	dia bolts, other flange of cleat fixed to the angle				
	hangers of 25x10x0.50 mm of required length with				
	nuts & bolts of required size and other end of angle				
	hanger fixed with intermediate G.I. channels				
	45x15x0.9 mm running at the spacing of 1200 mm				
	centre to centre, to which the ceiling section 0.5 mm				
	thick bottom wedge of 80 mm with tapered flanges				
	of 26 mm each having lips of 10.5 mm, at 450 mm				
	centre to centre, shall be fixed in a direction				
	perpendicular				
	* *	1	l		ı

	to G.I. intermediate channel with connecting clips made out of 2.64 mm dia x 230 mm long G.I. wire at every junction, including fixing perimeter channels 0.5 mm thick 27 mm high having flanges				
	of 20 mm and 30 mm long, the perimeter of ceiling fixed to wall/partition with the help of rawl plugs at 450 mm centre, with 25mm long dry wall screws @ 230 mm interval, including fixing of gypsum board to ceiling section and perimeter channel with the				
	help of dry wall screws of size 3.5 x 25 mm at 230 mm c/c, including jointing and finishing to a flush finish of tapered and square edges of the board with recommended jointing compound, jointing tapes, finishing with jointing compound in 3 layers covering up-to 150 mm on both sides of joint and two coats of primer suitable for board, all as per manufacturer's specification and also including the cost of making openings for light fittings, grills, diffusers, cut-outs made with frame of perimeter channels suitably fixed, all complete as per drawings, specification and direction of the Engineer in Charge but excluding the cost of painting with :12.5 mm thick tapered edge				
	gypsum plain board conforming to IS: 2095- Part I.	Sqm	20	1355.80	27116.00
D-3	Supply, installation, balancing and commissioning of fabricated at site GSS sheet metal rectangular/round ducting complete with neoprene rubber gaskets, elbows, splitter dampers, vanes, hangers, supports etc. as per approved drawings and specifications of following sheet thickness complete as required. :Thickness 0.63 mm sheet	•			
	•	Sqm	20	1001.63	20032.60
D- 4	Supplying & fixing of powder coated extruded aluminium Return Air Grills with louvers but without volume control dampers complete as required.	Sqm	4	5855.59	23422.36
	required.			Section - D Rs.	23422.30
<b>E</b> )	Doors and Windows	_	COM OI K		
E-1	Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia & length (hold fast lugs or dash fastener shall be paid for separately).				
i	Second class teak wood	Cum	0.08	142949.70	11435.98

E-2	Providing and fixing factory made single extruded WPC (Wood Polymer Composite) solid plain flush door shutter of required size comprising of virgin polymer of K value 58-60 (Suspension Grade), calcium carbonate and natural fibers (wood powder/rice husk/wheat husk) and nontoxic additives (maximum toxicity index of 12 for 100 gms) having minimum density of 650 kg/cum and screw withdrawal strength of 1800 N (Face) & 900 N (Edge), minimum compressive strength 50 N/mm2, modulus of elasticity 850 N/mm2 and resistance to spread of flame of Class A category with property of being termite/borer proof, water/moisture proof and fire retardant and fixing with stainless steel butt hinges of required size with necessary full body threaded star headed counter sunk S.S screws, all as per direction of Engineer-In- Charge. (Note: stainless steel butt hinges and necessary S.S screws shall be paid separately)				
i	30 mm thick	Sqm	RO	4764.20	0.00
ii	35 mm thick	Sqm	20	5432.85	108657.00
E-3	Providing and fixing ISI marked flush door shutters conforming to IS: 2202 (Part I) non-decorative type, core of block board construction with frame of 1st class hard wood and well matched commercial 3 ply veneering with vertical grains or cross bands and face veneers on both faces of shutters:				
i	35 mm thick including ISI marked Stainless Steel butt hinges with necessary screws	Sqm	4	2392.65	9570.60
ii	Extra for Providing and fixing flush doors with decorative veneering instead of non-decorative ISI marked flush door shutters conforming to IS: 2202 (Part I)	1			
	On one side only	Sqm	4	478.00	1912.00
E-4	Providing and fixing Fiber Glass Reinforced plastic (FRP) Door Frames of cross-section 90 mm x 45 mm having single rebate of 32 mm x 15 mm to receive shutter of 30 mm thickness. The laminate shall be moulded with fire resistant grade unsaturated polyester resin and chopped mat. Door frame laminate shall be 2 mm thick and shall be filled with suitable wooden block in all the three legs. The frame shall be covered with fiber glass from all sides. M.S. stay shall be provided at the bottom to steady the frame.	Mtr	RO	570.95	0.00

E-5	30 mm thick Glass Fibre Reinforced Plastic (FRP) panelled door shutter of required colour and approved brand and manufacture, made with fire retardant grade unsaturated polyester resin, moulded to 3 mm thick FRP laminate for forming hollow rails and styles, with wooden frame and suitable blocks of seasoned wood inside at required places for fixing of fittings, cast monolithically with 5 mm thick FRP laminate for panels conforming to IS: 14856, including fixing to frames.  Providing and fixing IS: 12817 marked stainless steel butt hinges (heavy weight) with stainless steel	Sqm	RO	3720.75	0.00
	screws etc. complete:				
i	125x64x2.50 mm	Each	16	129.85	2077.60
E-7	Providing 40x5 mm flat iron hold fast 400 mm long including fixing to frame with 10 mm diameter bolts, nuts and wooden plugs and embedding in cement concrete block 300x100x150 mm 1:3:6 mix (1 cement: 3 coarse sand: 6 graded stone aggregate 20 mm nominal size).	Each	16	228.85	3661.60
E-8	Providing and fixing panelled or panelled and glazed shutters for doors, windows and clerestory windows, fixing with butt hinges of required size with necessary screws, excluding panelling which will be paid for separately, all complete as per direction of Engineer-in-charge. (Note: Butt hinges and necessary screws shall be paid separately)				
a)	Second class teak wood				
i	35 mm thick shutters	Sqm	4	4111.95	16447.80
E-9	Providing and fixing panelling or panelling and glazing in panelled or panelled and glazed shutters for doors, windows and clerestory windows (Area of opening for panel inserts excluding portion inside grooves or rebates to be measured). Panelling for panelled or panelled and glazed shutters 25 mm to 40 mm thick.	·			
i	Fly proof stainless steel grade 304 wire gauge with 0.5 mm dia. wire and 1.4 mm wide aperture with matching wood beading	Sam	4	1800.45	7201.80
ii	Decorative plywood one side decorative veneer and commercial veneer on other face (Type 1) conforming to IS 1328 BWR Type: Ply wood 7 ply, 9 mm thick	Sqm Sqm	RO	2907.05	0.00
E-10	Providing and fixing wooden moulded beading to door and window frames with iron screws, plugs and priming coat on unexposed surface etc. complete: 2nd class teak wood				

i	50x12 mm	Mtr	35	221.10	7738.50
ii	50 x 20 mm	Mtr	RO	271.75	0.00
E-11	Providing and fixing aluminium work for doors, windows, ventilators and partitions with extruded built up standard tubular sections/ appropriate Z sections and other sections of approved make conforming to IS: 733 and IS: 1285, fixing with dash fasteners of required dia and size, including necessary filling up the gaps at junctions, i.e. at top, bottom and sides with required EPDM rubber/ neoprene gasket etc. Aluminium sections shall be smooth, rust free, straight, mitred and jointed mechanically wherever required including cleat angle, Aluminium snap beading for glazing / paneling, C.P. brass / stainless steel screws, all complete as per architectural drawings and the directions of Engineer-in-charge. (Glazing, paneling to be paid for separately):				
a)	For fixed portion				
(i)	Anodised aluminium (anodised transparent or dyed to required shade according to IS: 1868, Minimum anodic coating of grade AC 15)	Kg	10	495.05	4950.50
b)	For shutters of doors, windows & ventilators including providing and fixing hinges/ pivots and making provision for fixing of fittings wherever required including the cost of EPDM rubber / neoprene gasket required (Fittings shall be paid for separately)				
(i)	Anodised aluminium (anodised transparent or dyed to required shade according to IS: 1868, Minimum anodic coating of grade AC 15)	Kg	30	598.60	17958.00
E-12	Providing and fixing Brass 100mm mortice latch and lock with 6 levers without pair of handles (best make of approved quality) for aluminium doors including necessary cutting and making good etc. complete	Each	2	528.85	1057.70
E-13	Providing and fixing aluminium handles, ISI marked, anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade, with necessary screws etc. complete: 250 mm	Pair	4	372.16	1488.64
E-14	Providing and fixing glazing in aluminium/ wooden door, window, ventilator shutters and partitions etc. with EPDM rubber / neoprene gasket etc. complete as per the architectural drawings and the directions of engineer-in-charge. (Cost of aluminium snap beading shall be paid in basic item/ wooden bidding paid separately):				

i	With float glass/ black tinted glass panes of 5.50				
	mm thickness	Sqm	6	1505.25	9031.50
E-15	Providing and fixing of following accessories:	1			
i	Providing and fixing stainless steel (SS 304 grade)				
	adjustable friction windows stays of approved				
	quality with necessary stainless steel screws etc. to				
	the side/ top hung windows as per direction of	Each			
	Engineer-in-charge complete 355 X 19 mm	Pair	4	325.80	1303.20
ii	Providing and fixing aluminium casement windows				
	fastener of required length for aluminium windows with necessary screws etc. complete Anodized				
	(AC 15) aluminium	Each	40	89.40	3576.00
iii	Providing and fixing aluminium tower bolts, ISI	Lacii	70	07.40	3370.00
111	marked, anodised (anodic coating not less than				
	grade AC 10 as per IS: 1868) transparent or dyed				
	to required colour or shade, with necessary screws				
	etc. complete :				
	a) 250x10 mm	Each	5	115.15	575.75
	b) 200x10 mm	Each	5	99.70	498.50
	c) 150x10 mm	Each	5	82.55	412.75
E-16	Removal and re-fixing of existing wooden door				
	shutter and repair/ resizing of the shutter as may be				
	required as per the instruction of Engineer-in-				
	charge, re-fixing with new S.S. butt hinges and 1				
	mm thick laminate on one side of required size with necessary S.S. screws and providing lipping with				
	2nd class teak wood battens 25 mm minimum depth				
	on edges of flush door shutters wherever required,				
	all complete as per direction of engineer in charge.	Each	2	2392.44	4784.88
E-17	Providing and fixing 50 cm long aluminium kicking				
	plate of size 100x3.15 mm, anodised (anodic coating				
	not less than grade AC 10 as per IS: 1868)				
	transparent or dyed to required colour or shade, with				
	necessary screws etc. complete.	Each	10	239.40	2394.00
E-18	Providing and fixing 90 cm long aluminium kicking	Lucii	10	207.10	2571.00
	plate of size 100x3.15 mm, anodised (anodic coating				
	not less than grade AC 10 as per IS: 1868)				
	transparent or dyed to required colour or shade, with				
	necessary screws etc. complete.	Each	4	425.32	1701.28
E-19	Providing and fixing Stainless steel. tower bolt,				
	(Barrel type) heavy approved quality with necessary				
	screws etc. complete :				
A)	200x10 mm	Each	10	159.50	1595.00
B)	150x10 mm	Each	10	132.91	1329.10

E-20	Providing and fixing approved type Stainless steel handles of approved quality with necessary screws etc. complete: 125 mm		20	127.60	2552.00
E-21	Providing and fixing Godrej Mortise Door Lock Handle Set   200mm NEH-16 1CK Euro-profile   5 Pin Brass Tumbler Mechanism 60mm   Suitable for Left & Right Handed Doors (Satin Steel Finish) ( makes Godrej)	Each	20	127.60	2552.00
	makes Gourey)	Each	2	3000.00	6000.00
E-22	Providing and fixing stain less steel hanging floor door stopper with necessary screws etc. complete. (twin rubber)	F1	12	150.50	1014.00
E-23	Providing and fixing aluminium extruded section body tubular type universal hydraulic door closer (having brand logo with ISI, IS: 3564, embossed on the body, door weight up-to 36 kg to 80 kg and door width from 701 mm to 1000 mm), with double speed adjustment with necessary accessories and screws etc. complete (Heavy duty Door closer of makes Godrej/ Hardwyn)	Each  Each	12	159.50 2153.19	1914.00 17225.52
E-24	Providing and fixing foot operated door opener of Stainless Steel grade 304 of minimum 3 mm thickness of Euronics make or equivalent as per direction of engineer in charge.	Eacii	0	2133.19	17223.32
	direction of engineer in charge.	Each	10	478.49	4784.90
E-25	Repair to existing Aluminium Door by opening, refixing with fresh Aluminium Angle cleats and renewing rubber gasket etc. complete as per the direction of Engineer-in-charge.	Each	2	2000.00	4000.00
E26	Removing repair and re-fixing of collapsible gate with grill including modification cutting of grill and re-fixing including bottom channel and grouting with cement concrete etc. all complete				
E-27	Providing and fixing bright finished brass 100 mm mortice latch and lock with 6 levers and a pair of lever handles of approved quality with necessary screws etc. complete.	Each	2	5000.00	10000.00
		Each	10	854.65	8546.50
E-28	Providing and fixing bright finished brass night latch of approved quality including necessary screws etc. complete.	г ,	2	1102.20	2255 50
		Each	2	1183.30	2366.60
<b>F</b> )	Sanitary and Plumbing works	1	otal of S	Section - E Rs.	278749.20
<b>-</b> ')	building works				

	T-0		1		
F-1	<b>TOILET CUBICLES:</b> Supply and installation of				
	modular toilet cubicles of MERINO-BESCO make				
	'TITAN 12MM BOX-UP SERIES' series as per				
	manufacturer's standard specifications or equivalent				
	approved make and their relevant specifications as				
	per requirement of engineer-in-charge. All				
	intermediate panels, pilasters, doors shall be made				
	up of Solid Compact Laminate (Phenolic Core				
	Board) as per IS 2046 based on thermosetting resins,				
	homogeneously reinforced with cellulose fibers				
	making cubicles impervious to Water, resistant to				
	Fire, etc. Compact laminate should be Green				
	guard and IGBC certified				
	Hardware and Fixing				
	All accessories shall be of Merino's Grade 6				
	polyamide Thermoplastics material & all				
	hardware/fittings shall be of extruded anodized or				
	Epoxy poweder coated Aluminium . The pilaster are				
	anchored to the flooring using adjustable nylon legs.				
	Its top rail & door stopper channels shall be				
	extruded anodized or Epoxy poweder coated grade				
	6063 T5-15 micron Aluminium. The top rail shall be				
	fixed on the top of the pilasters for stability and				
	alignment purpose.				
	Accessories				
	Standard – Merino Make Stainless Steel - 304 Grade				
	accessories which includes SS "U" Channel & SS				
	Door Stopper Channel b) SS "F" Channel (Only				
	Corner Unit) c) SS Top Rail d) SS Coat Hook e) SS				
	Privacy Thumb turn c/w Occupancy Indicator f) SS				
	Door Knob g) SS Hinges with Cover h) SS Sheo				
	Box 12mm - 316 Grade i) Rubber				
	Lining for Groove j) S.S.Screws 304 G & P.V.C				
	Wall Plugs SPECIAL NOTE - Warpage Criteria is				
	3.0 mm/1000mm for MRS panels as per EN				
	standard- 438				
A)	TITAN 12MM BOX-UP SERIES: Std Sizes: (W				
	x D x H)- 1000 mm x 1550 mm x 2100 mm, (Height				
	is including 150 mm gap from bottom) Door Size-				
	610 mm				
	Complete as above.	Each	9	42505.00	382545.00

F-2	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings and fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and the cost of cutting chases and making good the same including testing of joints complete as per direction of Engineer in Charge. Concealed work, including cutting chases and making good the walls etc.				
i	15 mm nominal dia Pipes	Mtr	24	497.80	11947.20
ii	20 mm nominal dia Pipes	Mtr	120	537.60	64512.00
iii	25 mm nominal dia Pipes	Mtr	50	627.25	31362.50
iv	32 mm nominal dia Pipes	Mtr	50	739.30	36965.00
	40 mm nominal dia Pipes	Mtr	5	702.95	3514.75
F-3	Providing and fixing CPVC/ PPR Unions				
i	PPR Union 20mm	Each	6	315.50	1893.00
ii	PPR Union 25mm	Each	6	334.00	2004.00
iii	PPR Union 32mm	Each	6	403.70	2422.20
iv	PPR Union 40mm	Each	6	543.10	3258.60
F-4	Providing and fixing G.I. Pipes complete with G.I. fittings and clamps, i/c making good the walls etc. concealed pipe, including painting with anti-corrosive bitumastic paint, cutting chases and making good the wall :(makes Jindal Hisar, TATA or equivalent approved make)				
i	15 mm dia nominal bore	Mtr	25	580.45	14511.25
ii	20 mm dia nominal bore	Mtr	15	635.20	9528.00
iii	25 mm dia nominal bore	Mtr	10	691.15	6911.50
F-5	Providing and fixing G.I. pipes complete with G.I. fittings and clamps, i/c cutting and making good the walls etc. (Internal and External work exposed on wall)	1724		071110	0311.00
i	25 mm dia nominal bore	Mtr	10	551.70	5517.00
ii	32 mm dia nominal bore	Mtr	36	667.00	24012.00
iii	40 mm dia nominal bore	Mtr	42	811.90	34099.80
iv	50 mm dia nominal bore	Mtr	75	1048.35	78626.25
F-6	Painting G.I. pipes and fittings with synthetic enamel white paint with two coats over a ready mixed priming coat, both of approved quality for new work:				
i	15 mm diameter pipe	Mtr	0	19.40	0.00
ii	20 mm diameter pipe	Mtr	0	23.25	0.00
iii	25 mm diameter pipe	Mtr	10	30.25	302.50
iv	32 mm diameter pipe	Mtr	36	36.35	1308.60

v	40 mm diameter pipe	Mtr	42	42.65	1791.30
vi	50 mm diameter pipe	Mtr	75	51.00	3825.00
F-7	Providing and fixing G.I. Union in G.I. pipe	1,161	7.5	31.00	3023.00
	including cutting and threading the pipe and making				
	long screws etc. complete (New work) :(makes				
	Jindal Hisar, TATA or equivalent approved				
	make)				
i	15 mm nominal bore	Each	2	829.45	1658.90
ii	20 mm nominal bore	Each	2	857.85	1715.70
iii	25 mm nominal bore	Each	6	950.35	5702.10
iv	32 mm nominal bore	Each	6	1000.15	6000.90
V	40 mm nominal bore	Each	6	1142.40	6854.40
vi	50 mm nominal bore	Each	10	1520.80	15208.00
	Faucets and accessories				
F-8	Providing and fixing C.P. brass long body bib cock				
	of approved quality conforming to IS standards and				
	weighing not less than 690 gms including cost of CP	ъ.			
	extension nipple of required size, if required. :15 mm nominal bore (Make: Parko/ Essco/	Each			
	mm nominal bore (Make: Parko/ Essco/ Kingston/ Plumber/ Jaquar or equivalent				
	approved make)		2	798.95	1597.90
F-9	Providing and fixing C.P. brass stop cock			170.72	1577.50
	(concealed) of standard design and of approved				
	make conforming to IS:8931 including cost of CP				
	extension nipple of required size, if required :15	Each			
	mm nominal bore (Make: Parko/ Essco/				
	Kingston/ Plumber/ Jaquar or equivalent		2	670.45	1340.90
F-10	<ul><li>approved make)</li><li>Providing and fixing C.P. brass angle valve for</li></ul>			070.43	1340.90
1-10	basin mixer and geyser points of approved quality				
	conforming to IS: 8931 including cost of CP				
	extension nipple of required size, if required.				
	:15mm nominal bore ((Make: Parko/ Essco/				
	Kingston/ Plumber/ Jaquar or equivalent				
F 11	approved make)	Each	45	574.30	25843.50
F-11	Providing and fixing C.P. brass bib cock of				
	approved quality conforming to IS: 8931 including cost of CP extension nipple of required size, if				
	required. :15 mm nominal bore (Make: Parko/				
	Essco/ Kingston/ Plumber/ Jaquar or equivalent				
	approved make)	Each	15	506.80	7602.00
F-12	Providing and fixing C.P. brass long nose bib cock				
	of approved quality conforming to IS standards and				
	weighing not less than 810 gms. (Make: Parko/				
	Essco/ Kingston/ Plumber/ Jaquar or equivalent				
i	approved make) 15 mm nominal bore	Г 1	2	020.70	1641 40
1	13 mm nommai bore	Each	2	820.70	1641.40

F-13	Providing and fixing gun metal non- return valve of approved quality (screwed end):				
a)	32 mm nominal bore				
i	Horizontal	Each	1	791.90	791.90
ii	Vertical	Each	1	850.25	850.25
b)	40 mm nominal bore				
i	Horizontal	Each	2	952.60	1905.20
ii	Vertical	Each	2	1134.70	2269.40
c)	50 mm nominal bore				
i	Horizontal	Each	2	1371.20	2742.40
ii	Vertical	Each	2	1445.15	2890.30
F-14	Providing and fixing C.P. brass two-way angle valve for basin mixer and geyser points of an approved quality conforming to IS:8931 including the cost of CP extension nipple of required size, if required. :15mm nominal bore ((Make: Parko/ Essco/ Kingston/ Plumber/ Jaquar or equivalent approved make)	Each	8	594.75	4758.00
F-15	Providing and fixing 75 mm PVC Naini floor trap of required design.	Each	11	180.00	1980.00
F-16	Providing and fixing 100 mm PVC floor 'P' trap of required design.	Each	5	220.00	1100.00
F-17	Providing and fixing PVC height riser three way for floor trap and bottle trap or of required outlets.	Each	12	210.00	2520.00
F-18	Providing and fixing 125 mm Stainless steel floor jali of square design as per direction of engineer-in-charge	Each	20	150.00	3000.00
F-19	Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) :(MAKES: LEADER, NETA, NMV, SANT, JOLATO)				
i	50 mm nominal bore	Each	2	1026.65	2053.30
ii	40 mm nominal bore	Each	1	826.10	826.10
iii	32 mm nominal bore	Each	2	689.60	1379.20
iv	25 mm nominal bore	Each	3	622.40	1867.20
V	20 mm nominal bore	Each	2	539.95	1079.90
vi	15 mm nominal bore (Ball Valve)	Each	2	406.85	813.70
F-20	Installation of Existing Water storage tank including GI/UPVC fittings like elbow, socket, tee, tank nipple, union as per required etc complete as per direction of Engineer-in-charge.	Ltr	5000	0.75	3750.00
	Water Closets and accessories				

F-21	Providing and fixing white vitreous china pedestal type water closet (European type) of Make CERA/HINDWARE/ JAQUAR/ PARRYWARE with ISI marked white solid plastic seat and lid,				
	including Metropole Flush Valve Regular 32mm				
	Size (Concealed Body) with Exposed Shut Off				
	Provision & 100mm Square Plate of make Jaquar Product Code: FLV-CHR-1095SQ, 40 mm flush				
	bend, including painting of fittings and brackets,				
	cutting and making good the walls and floors				
	wherever required.	Each	8	9383.00	75064.00
F-22	Providing and fixing white vitreous china pedestal				
	type water closet (European type) with seat and lid,				
	10 litre low level white vitreous china flushing				
	cistern & C.P. flush bend with fittings & C.I.				
	brackets, 40 mm flush bend, overflow arrangement with specials of standard make and mosquito proof				
	coupling of approved municipal design complete,				
	including painting of fittings and brackets, cutting				
	and making good the walls and floors wherever				
	required:				
i	W.C. pan with ISI marked white solid plastic seat				40033.00
F 22	and lid	Each	5	8006.60	10023.00
F-23	Providing and fixing water closet squatting pan				
	(Indian type W.C. pan ) with 100 mm sand cast Iron P or S trap, 10 litre low level white P.V.C. flushing				
	cistern, including C.P flush pipe, with manually				
	controlled device (handle lever) conforming to IS:				
	7231, with all fittings and fixtures complete,				
	including cutting and making good the walls and				
	floors wherever required: White Vitreous china				
	Orissa pattern W.C. pan of size 580x440 mm with				
F 2.4	integral type foot rests	Each	3	6767.40	20302.20
F-24	Providing and fixing 8 mm dia C.P. / S.S. Jet with				
	flexible tube up to 1 metre long with S.S. triangular plate to European type W.C. of quality and make as				
	approved by Engineer - in - charge.				
F 27		Each	13	349.15	4538.95
F-25	Providing and fixing Hand Shower (Health Faucet)				
	with minimum 1.2 Meter Long Flexible Tube and Wall Hook of Jaquar make Product Code: <b>Jaquar</b> -				
	ALD-CHR-573 or equivalent approved makes as				
	per direction of engineer in charge.				
	1	Each	5	1840.00	9200.00

F-26	Providing and fixing Hand Shower (Health Faucet) with minimum 1.2 Meter Long Flexible Tube and Wall Hook of jaquar make Product Code: Hindware F160013CP Plastic Health Faucet with PVC Flexible Tube and Wall Hook, Jet Spray, or other equivalent approved makes like Plumber,				
	Cera as per direction of engineer in charge.	Each	11	978.00	10758.00
F-27	Providing and fixing Toilet Roll Holder of jaquar make product Code: ACN-CHR-1151N or equivalent approved by engineer-in-charge. Toilet				
	Paper Holder - C. P. Brass	Each	11.00	803.70	8840.70
	Wash Basins and accessories				
F-28	Providing and fixing counter bottom type circular/oval wash basin (make Hindware catalague No. 10017 or 10065 or approved equivalent make) with necessary C.I bracket and 32 mm C.P. brass waste coupling of standard pattern (make Hindware Cat. No. F850001 or approved equivalent make)				
	and PTMT Bottle trap of make PRAYAG or approved make including painting of fittings and brackets, cutting and making good the walls wherever required as complete as per direction of engineer-in-charge.	Each	16	3403.00	54448.00
F-29	Providing and fixing automatic tap for washbasin of makes Doppler/ Jaquar/ Hindware/ Parryware Automatic water tap including tap body of CP Brass or approved equivalent make with electronic control system and motorized valve single 220V mains power supply as per direction of engineer-in-charge.	Each	26	11250.00	292500.00
F-30	Providing and fixing kitchen sink with C.I. brackets, C.P. brass chain with a rubber plug, 32/40 mm C.P. brass waste complete, including painting the fittings and brackets, cutting and making good the walls wherever required: White glazed fire clay kitchen sink of size 600x450x 250 mm  Urinals and accessories	Each	RO	3512.03	0.00
F-31	Providing and fixing white vitreous china flat back half stall urinal of make Perryware New magnum Ref. No. C0583 or approved equivalent make with CP spreader and cap, waste coupling of required size, C.I. trap with outlet grating and other couplings in C.P. brass, including painting of fittings and cutting and making good the walls and floors wherever required as per direction of engineer-in-charge.	Each	9	5102.00	45918.00

		I	1		I
F-32	Providing and fixing automatic urinal flush of				
	makes Robo/ Jaquar/ Hindware/ Parryware or				
	equivalent approved makes Auto flush system for				
	urinals 220V main power supply including				
	electronic sensor control system and motorized	Each	9	10687.00	06192.00
F-33	valve as per direction of engineer-in-charge.  Providing and fixing Urinal partition with 8 mm	Each	9	10087.00	96183.00
1-33	thick froasted toughened glass of approved make				
	and shape fixed with stainless steel patch/angle				
	fitting from both side to the wall with necessary				
	fastners of size 900 mm x 450 mm cut to size and				
	shape as per approved design inchuding making				
	holes, frosting, toughening and rounding off edges				
	etc all complete of make jaquar model no. JSE-				
	CHR-810UC450X (Curved shaped urinal partition				
	with frosted glass) or equivalent approved by				
	engineer-in-charge.	Each	8	6193.00	49544.00
F-34	Providing and fixing 5/ 5.5 mm thick mirror Modi				
	Guard/ Saint Gobain with stainless steel patch				
	fittings including grinding the edges round	G	1.4	1016.00	25.424.00
E 25	complete.	Sqm	14	1816.00	25424.00
F-35	Providing and fixing rigid PVC pipe 6 Kg/cm2 of approved make for drainage lines in laid in floor				
	with necessary fittings etc. complete including MS				
	clamps for support of pipe as per instruction of				
	Engineer-in-charge.				
i	40mm diameter	Rmt	60	120.00	7200.00
ii	75 mm diameter	Rmt	24	240.00	5760.00
iii	110 mm diameter	Rmt	60	342.00	20520.00
iv	160mm diameter	Rmt	RO	804.00	0.00
F-36	Providing and fixing Rigid PVC moulded fittings/				
	accessories 6 Kg/cm2 of approved make for				
	drainage lines.				
a)	Coupler				
i	75 mm	Each	7	64.00	448.00
ii	110 mm	Each	10	180.00	1800.00
iii	160mm	Each	0	245.00	0.00
b)	Single tee with door				
i	75x75x75 mm	Each	6	170.00	1020.00
ii	110x110x110 mm	Each	6	250.00	1500.00
iii			_	0.55.00	0.00
	160mm	Each	0	865.00	0.00
c)	Single tee without door		0		
c) i	Single tee without door 75x75x75 mm	Each	6	73.00	438.00
c) i	Single tee without door 75x75x75 mm 110x110x110 mm	Each Each	6	73.00 178.00	438.00 1068.00
c) i	Single tee without door 75x75x75 mm	Each	6	73.00	438.00

i	40 mm	Each	60	45.00	2700.00
ii	75 mm	Each	6	77.00	462.00
iii	110 mm	Each	6	178.00	1068.00
iv	160mm	Each	0	245.00	0.00
e)	Y Tee				
i	75 mm	Each	4	180.00	720.00
ii	110 mm	Each	6	226.00	1356.00
iii	160mm	Each	0	605.00	0.00
f)	Half set				
i	40mm	Each	4	90.00	360.00
ii	75 mm	Each	4	150.00	600.00
iii	110 mm	Each	4	190.00	760.00
iv	160mm	Each	0	480.00	0.00
F-37	Providing and fixing 100 mm dia PVC connector for EWC including necessary 'O' rubber rings.	Each	12	205.00	2460.00
F-38	Providing and fixing uplasticised PVC connection pipe with brass unions: 30 cm/45 cm/60 cm length as per requirement: 15 mm nominal bore	Each	40	95.75	3830.00
F-39	Providing and fixing PTMT Bottle Trap for Wash basin/Urinal and sink.				
i	Providing and fixing PTMT Bottle Trap for Wash basin and sink Bottle trap 31mm single piece moulded with height of 270 mm, effective length of tail pipe 260 mm from the centre of the waste coupling, 77 mm breadth with 25 mm minimum water seal, weighing not less than 260 gms. of prayag make.	Each	10	367.10	3671.00
F-40	Providing and fixing square-mouth S.W. gully trap class SP-1 complete with C.I. grating brick masonry chamber with water tight C.I. cover with frame of 300 x 300 mm size (inside) the weight of cover to be not less than 4.50 kg and frame to be not less than 2.70 kg as per standard design:100x100 mm size P type				
i	With common burnt clay F.P.S. (non modular) bricks of class designation 7.5	Each	2	2707.65	5415.30
F-41	Providing and fixing Automatic Liquid Soap Dispensers ABS White of make KENT 12017 Touchless 1000 ml Soap Dispenser (White) or equivalent approved make having minimum capacity 1.00 ltrs or more suitable for installation and fixing in toilet wall as per manufacturers specification etc all complete as per direction of engineer-in-charge.	Each	2	2176.00	4352.00

F-42	Providing and fixing PTMT liquid soap container				
	109 mm wide, 125 mm high and 112 mm distance				
	from wall of standard shape with bracket of the				
	same materials with snap fittings of approved				
	quality and colour, weighing not less than 105 gms.	Each	11	168.35	1851.85
F-43	Providing and fixing PTMT towel ring trapezoidal				
	shape 215 mm long, 200 mm wide with minimum				
	distances of 37 mm from wall face with concealed				
	fittings arrangement of approved quality and colour,	F 1	2	221.05	462.00
F 44	weighing not less than 88 gms.	Each	2	231.95	463.90
F-44	Providing and fixing PTMT towel rail complete				
	with brackets fixed to wooden cleats with CP brass				
	screws with concealed fittings arrangement of approved quality and colour.				
i	450 mm long towel rail with total length of 495 mm,				
1	78 mm wide and effective height of 88 mm,				
	weighing not less than 170 gms				
		Each	2	673.40	1346.80
i	600 mm long towel rail with total length of 645 mm,				
	width 78 mm and effective height of 88 mm,				
	weighing not less than 190 gms.	Each	6	708.95	4253.70
F-45	Providing and fixing PTMT shelf 440 mm long, 124				
	mm width and 36 mm height of approved quality				
	and colour, weighing not less than 300 gms.	Each	5	713.20	3566.00
F-46	Making connection of drain or sewer line with				
	existing manhole including breaking into and				
	making good the walls, floors with cement concrete				
	1:2:4 mix (1 cement : 2 coarse sand : 4 graded stone				
	aggregate 20 mm nominal size) cement plastered on				
	both sides with cement mortar 1:3 (1 cement : 3				
	coarse sand), finished with a floating coat of neat				
	cement and making necessary channels for the drain				
	etc. complete :				0.70 - 10
F. 45	For pipes 100 to 250 mm diameter	Each	12	810.45	9725.40
F-47	Providing and fixing Grab Bar Jaquar model no:				
	WAC-WHT-BR0600N or equivalent approved by				
	engineer-in-charge.	Each	1	1515.00	1515.00
F-48	Providing and fixing Grab Bar Jaquar model no:				
	WAC-WHT-BBG0800N or equivalent approved by				
	engineer-in-charge.	Each	1	4509.00	4509.00
F-49	Rebate for taking away unserviceable or as directed				
	for dismantled toilet fixtures and giving discount	Lump	1	-15000.00	-15000.00
	towards the cost of scrape as per direction of the	sum	1	-13000.00	-13000.00
1	<u> </u>	1			
	engineer in charge.				
G			Total of	Section F Rs.	1645093.80

		ı	1		1
G-1	Providing and fixing white vitreous china pedestal				
	type water closet (European type) with seat Rimless				
	Single Piece WC (Jaguar code No. CNS-WHT-				
	853S220SPPSM) all complete, including of fittings				
	and brackets, cutting and making good the walls and				
	floors wherever required.	Each	2	17409.00	34818.00
G-2	Providing and fixing rectangular wash basin of size				
	495 X 395 X150 vitreous china counter top ( <b>Jaquar</b>				
	model no : JDS-WHT-25909 or equivalent) with				
	CP waste coupling Jaquar, CP bottle trap (Jaquar)				
	including single lever basin mixture Jaquar make				
	(model no VGP - 81011B.) with necessary CP				
	connections of etc. on Granite counter complete.				
	(cost of Granite for counter will be paid				
	separately)	Each	2	11210.00	22420.00
C 2	- V	Each		11210.00	22420.00
G-3	Providing and fixing <b>jaquar</b> make mixer fitting				
	concealed with overhead shower button with Single				
	bath spout and swinging handle (Spout SPJ - 29429				
	& mixture VGP 81065K & Concealed fitting	F 1	2	6077.00	12054.00
G 4	ALD-065)	Each	2	6977.00	13954.00
G-4	Providing and fixing 10 mm thick toughened frosted				
	glass fix partition with stainless steel fittings				
	(OZONE make) complete for bathing cubicle as per				
	direction of Engineer-in-charge.	Sqm	5	5209.00	26045.00
G-5	Providing and fixing C.P. brass angle valve for				
	basin mixer and geyser points of approved quality				
	conforming to IS:8931 including cost of CP				
	extension nipple of required size, if required. :15				
	mm nominal bore ((Make:Cataloge NO. CON-				
	059KN of Jaquar or equivalent approved make)	Each	12	1009	12108.00
G-6	Providing and fixing C.P. brass bib cock of				
	approved quality conforming to IS:8931 including				
	cost of CP extension nipple of required size, if				
	required. :15 mm nominal bore (Make: Cataloge				
	NO. CON-047 KN of Jaquar or equivalent				
	approved make)	Each	2	1208.00	2416.00
G-7	Providing and fixing C.P. brass long body bib cock		_		
	of approved quality conforming to IS:8931				
	including cost of CP extension nipple of required				
	size, if required. :15 mm nominal bore (Make:				
	Catalogue NO. CON-107 KN of Jaquar or				
	equivalent approved make)	Each	RO	1123.00	0.00
G-8	Providing and fixing C.P. brass two-way angle valve				5.55
	for basin mixer and geyser points of an approved				
	quality conforming to IS:8931 including the cost of				
	CP extension nipple of required size, if required.				
	:15mm nominal bore ((Make: Parko/ Essco/				
	Kingston/ Plumber/ Jaquar or equivalent approved				
	make)	Each	2	790.00	1580.00
L	muno)	Lacii		7,70.00	1500.00

G-9	Providing and fixing toilet fittings as listed and of given make:				
a	Providing and fixing 125 mm Stainless steel floor jali of square design as per direction of engineer-in-charge	Each	6	150.00	900.00
b	Stainless Steel Towel rod 600 mm long of approved quality. of make Jaquar <b>AQN 7711</b>	Each	2	1750.00	3500.00
С	Providing and fixing Toilet Roll Holder of jaquar make product Code: <b>ACN-CHR-1151N</b> or equivalent approved by engineer-in-charge.	Each	2	803.70	1607.40
d	Providing and fixing soap dish holder of <b>Jaquar Make (CAN -1131N)</b>	Each	2	809.00	1618.00
e	Providing and fixing Hand Shower (Health Faucet) with minimum 1.2 Meter Long Flexible Tube and Wall Hook of jaquar make Product Code: <b>Jaquare - ALD-CHR-573</b> or equivalent approved makes as per direction of engineer in charge.	Each	2	1840.00	3680.00
f	Providing and fixing 8 mm dia C.P. / S.S. Jet with flexible tube upto 1 metre long with S.S. triangular plate to Eureopean type W.C. of quality and make as approved by Engineer - in - charge.	Each	2	349.15	698.30
g	Providing and fixing overhead shower 150mm Jaquar make (OHS - 1989) with 300 mm shower arm Jaquar make (SHA - 477)	Each	2	2275.00	4550.00
h	Providing and fixing towel ring square with round flange Jaquar make (ACN -1121N)	Each	2	1375.00	2750.00
i	Providing and fixing PTMT Bottle Trap for Wash basin and sink Bottle trap 31mm single piece moulded with height of 270 mm, effective length of tail pipe 260 mm from the centre of the waste coupling, 77 mm breadth with 25 mm minimum water seal, weighing not less than 260 gms, of prayag make.	Each	2	367.10	734.20
j	Providing and fixing 600x450 mm beveled edge	Eacii	2	307.10	734.20
	mirror of superior glass (of approved quality) complete with 6 mm thick hard board ground fixed to wooden cleats with C.P. brass screws and washers complete.	Each	3	1607.95	4823.85
k	Stainless Steel Towel rack 600 mm long with lower hangers of make Jaquar (Model no-AKP 35781P)	Each	2	5283.00	10566.00
1	Providing and fixing uplasticised PVC connection pipe with brass unions: 30 cm/45 cm/60 cm length as per requirement: <b>15 mm nominal bore</b>	Each	10	95.75	957.50
II E	etomol vyoules		Total of	Section G Rs.	149726.25
H - EX	xternal works				

H-1	Steel work in built up tubular (round, square or rectangular hollow tubes etc.) trusses etc., including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer, including welding and bolted with special shaped washers etc. complete.				
i	Hot finished welded type tubes	Kg	100	194.40	19440.00
H-2	Providing and fixing pre-coated galvanised iron profile sheets (size, shape and pitch of corrugation as approved by Engineer-in-Charge) of total coated thickness 0.50 mm (base metal of minimum 0.45 mm thickness with total coating thickness of 0.05mm) with zinc coating 120 grams per sqm as per IS: 277, in 240 mpa steel grade, 5-7 microns epoxy primer on both side of the sheet and polyester top coat 15-18 microns. Sheet should have protective guard film of 25 microns minimum to avoid scratches during transportation and should be supplied in single length up-to 12 metre or as desired by Engineer-in-charge. The sheet shall be fixed using self-drilling /self-tapping screws of size (5.5x 55 mm) with EPDM seal, complete up-to any pitch in horizontal/ vertical or curved surfaces, excluding the cost of purlins, rafters and trusses and including cutting to size and shape wherever required.	Sqm	22	738.65	16250.30
H-3	Cutting road and making good the same	•			
	including supply of extra quantities of materials i.e. aggregate, moorum screening, red bajri and labour required.				
i	Bituminous portion	Cum	1.50	5032.25	7548.38
ii	Water bound macadam	Cum	8	3078.05	24624.40
H-4	Providing and laying 75 mm thick compacted bed of dry brick aggregate of 40 mm thick nominal size including spreading, well ramming, consolidating and grouting with jamuna sand, including finishing smooth etc. complete as per direction of Engineer-in-charge.	Sqm	50	199.35	9967.50
	1 0	~ YIII	20	177.33	7701.50

H-5	Providing and laying Bitumen Penetration Macadam with hard stone aggregate of quality, size and grading as specified, with bitumen of suitable penetration grade, including required key aggregate as specified, spreading coarse aggregate with the help of self-propelled/ tipper tail mounted aggregate spreader and applying bitumen by a pressure distributor and then spreading key aggregate with the help of aggregate spreader complete, including consolidation with road roller of minimum 8 to 10 tonne capacity to achieve specified values of compaction and surface accuracy:				
i	For 50 mm compacted thickness using coarse aggregate of size 50-20 mm graded @ 0.60 cum per 10 sqm key aggregate of size 12.5 mm graded @ 0.15 cum per 10 sqm. With paving asphalt grade VG				
	- 10 @ 50 kg/ 10 sqm.	Sqm	R0	505.65	0.00
ii	For 75 mm compacted thickness in two layers using stone aggregate of size 63-41 mm graded @ 0.90 cum per 10 sqm key aggregate of size 20.0 mm graded @ 0.18 cum per 10 sqm. With paving asphalt grade VG - 10 @ 68 kg/10 sqm.	Sqm	50	744.15	37207.50
H-6	Providing and applying tack coat using bitumen emulsion conforming to IS:8887, using emulsion pressure distributer including preparing the surface & cleaning with mechanical broom.				
i	With rapid setting bitumen emulsion				
a	On W.B.M / W.M.M. @ 0.4kg/sqm	Sqm	100	13.45	1345.00
Н-7	2 cm premix carpet surfacing with 2.4 cum of stone chippings 11.2 mm nominal size per 100 sqm and bitumen emulsion (medium setting min. 65% bitumen content) complying with IS: 8887, using 96 kg per cum of chippings, including consolidation with road roller of 6 to 9 tonne capacity etc. complete.	Sqm	100	208.9	20890.00
H-8	Construction of granular sub-base by providing close graded Material conforming to specifications, mixing in a mechanical mix plant at OMC, carriage of mixed material by tippers to work site, for all leads & lifts, spreading in uniform layers of specified thickness with motor grader on prepared surface and compacting with vibratory power roller to achieve the desired density, complete as per specifications and directions of Engineer- in-Charge.				
i	With material conforming to Grade-I (size range 75				
	mm to 0.075 mm) having CBR Value-30	Cum	10	2784.00	27840.00

		ı			1
H-9	Providing and laying factory made chamfered edge Cement Concrete paver blocks in footpath, parks, lawns, drive ways or light traffic parking etc, of				
	required strength, thickness & size/ shape, made by				
	table vibratory method using PU mould, laid in				
	required colour & pattern over 50 mm thick				
	compacted bed of sand, compacting and proper embedding/laying of inter locking paver blocks into				
	the sand bedding layer through vibratory				
	compaction by using plate vibrator, filling the joints				
	with sand and cutting of paver blocks as per				
	required size and pattern, finishing and sweeping				
	extra sand. Complete all as per direction of				
	Engineer-in-Charge.				
i	60 mm thick cement concrete paver block of M-35				
	grade with approved colour, design & pattern.	Sqm	100	1045.65	104565.00
ii	80 mm thick C.C. paver block of M-35 grade with				
	approved colour design and pattern.	Sqm	RO	1091.50	0.00
H-10	Earth work in excavation by mechanical means				
	(Hydraulic excavator)/ manual means over areas				
	(exceeding 30 cm in depth, 1.5 m in width as well as				
	10 sqm on plan) including getting out and disposal of excavated earth lead up-to 50 m and lift up-to 1.5				
	m, as directed by Engineer in charge.				
i	All kinds of soil	Cum	50	177.50	8875.00
H-11	Dismantling G.I. pipes (external work) including	00111		177,100	0072100
	excavation and refilling trenches after taking out the				
	pipes, manually/ by mechanical means including				
	stacking of pipes within 50 metres lead as per				
•	direction of Engineer-in-charge:			1 10 00	222.22
i	15 mm to 40 mm nominal bore	Metre	6	149.80	898.80
ii	Above 40 mm nominal bore	Metre	6	161.40	968.40
H-12	Dismantling C.I. pipes including excavation and				
	refilling trenches after taking out the pipes, manually/ by mechanical means breaking lead				
	caulked joints, melting of lead and making into				
	blocks including stacking of pipes & lead at site				
	within 50 metre lead as per direction of Engineer-in-				
	charge:				
i	Up to 150 mm diameter	Metre	RO	332.40	0.00
ii	Above 150 mm dia up to 300 mm dia	Metre	RO	456.65	0.00
iii	Above 300 mm diameter	Metre	RO	614.30	0.00
H-13	Taking out C.I. cover with frame from R.C.C. top				
	slab of inspection chambers of various sizes				
	including demolishing of R.C.C. work manually/ by				
	mechanical means and stacking of useful materials				
	near the site and disposal of unserviceable materials				

	within 50 maters load as not direction of Engineer				1
	within 50 metres lead as per direction of Engineer-in-charge.	<b>.</b>		40 < 77	10 5 7 7
TT 1.4		Each	1	406.75	406.75
H-14	Dismantling of road gully chamber of various sizes including C.I. grating with frame including stacking of useful materials near the site and disposal of unserviceable materials within 50 metres lead including refilling the excavated gap.	Each	2	958.75	1917.50
H-15	Chequerred precast cement concrete tiles 22 mm thick in footpath & courtyard, jointed with neat cement slurry mixed with pigment to match the shade of tiles, including rubbing and cleaning etc. complete, on 20 mm thick bed of cement mortar 1:4 (1 cement: 4 coarse sand).				
i	Ordinary cement without any pigment	Sqm	102	1056.35	107747.70
H-16	Providing and fixing in position pre-cast R.C.C. manhole cover and frame of required shape and approved quality				
a	L D- 2.5				
i	Rectangular shape 600x450 mm internal dimensions	Each	6	1437.65	8625.90
H-17	Supplying and fixing C.I. cover without frame for manholes:				
i	455x610 mm rectangular C.I. cover (light duty) the weight of the cover to be not less than 23 kg	Each	6	1358.00	8148.00
ii	500 mm diameter C.I. cover (medium duty) the weight of the cover to be not less than 58 kg	Each	2	3441.20	6882.40
iii	560 mm diameter C.I. cover (heavy duty) the weight of the cover to be not less than 108 kg	Each	2	7575.40	15150.80
H-18	Disposal of moorum/building rubbish/ malba/ similar unserviceable, dismantled or waste material by mechanical transport including loading, transporting, unloading to approved municipal dumping ground for lead up-to 10 km for all lifts, complete as per directions of Engineer-in-charge. Note - Item to be applicable in urban areas having directions for restricted hours for movement/plying of load carrying motor vehicle of 3.5 cum or more.	Cum	60	494.10	29646.00
H-19	Providing and laying water proofing treatment in sunken portion of WCs, bathroom etc., by applying cement slurry mixed with water proofing cement compound consisting of applying: (a) First layer of slurry of cement @ 0.488 kg/sqm mixed with water proofing cement compound @ 0.253 kg/ sqm. This layer will be allowed to air cure for 4 hours. (b) Second layer of slurry of cement @ 0.242 kg/sqm mixed with water proofing cement compound @0.126 kg/sqm. This layer will be allowed to air				

	over for A house followed with water over a for 10	<u> </u>			1
	cure for 4 hours followed with water curing for 48				
	hours. The rate includes preparation of surface,				
	treatment and sealing of all joints, corners, junctions				
	of pipes and masonry with polymer mixed slurry.	Sqm	20	617.05	12341.00
H-20	Providing and applying of swellable type water stop				
	tape, 19 mm x 25 mm thick in linear metre				
	(expansive nature) for construction joints treatment				
	of RCC structure such as raft slab, retaining walls,				
	water storage tank and at the junctions of raft slab				
	with the retaining walls etc After cleaning the				
	surface, one coat of required primer for swellable				
	water stop tape shall be applied throughout the				
	length of the joint @3.78 litre per 240 running				
	metre. Over the primed surface swellable type water				
	stop tape shall be placed. The work shall be carried				
	1 1 1				
	out all complete as per specification and the				
	direction of the Engineer-In-Charge. The product				
	performance shall carry guarantee for 10 years	Matas	40	572 45	22029.00
11.01	against any leakage.	Metre	40	573.45	22938.00
H-21	Providing and applying integral crystalline slurry of				
	hydrophilic in nature for waterproofing treatment to				
	the RCC structures like retaining walls of the				
	basement, water tanks, roof slabs, podiums,				
	reservoir, sewage & water treatment plant, tunnels /				
	subway and bridge deck etc., prepared by mixing in				
	the ratio of 5 : 2 (5 parts integral crystalline slurry :				
	2 parts water) for vertical surfaces and 3:1 (3 parts				
	integral crystalline slurry : 1 part water) for				
	horizontal surfaces and applying the same from				
	negative (internal) side with the help of synthetic				
	fiber brush. The material shall meet the				
	requirements as specified in ACI-212-3R-2010 i.e				
	by reducing permeability of concrete by more than				
	90% compared with control concrete as per DIN				
	1048 and resistant to 16 bar hydrostatic pressure on				
	negative side. The crystalline slurry shall be capable				
	of self-healing of cracks up to a width of 0.50 mm.				
	The work shall be carried out all complete as per				
	specification and the direction of the engineer-in-				
	charge. The product performance shall carry				
	guarantee for 10 years against any leakage.				
	For horizontal surface one coat @1.10 kg per sqm.	Sqm	50	362.8	18140.00
	81.41	Sqiii		of Part H Rs.	512364.33
I - Ele	ctrical works		Total	or rare II NS.	314304.33
	Point Wiring in PVC Conduit with Modular type				
I-1	switch:				
1-1	LIGHT, FAN & 6A 5Pin Socket outlet. POINT				
	WIRING (Concealed Type):				
	winting (Concealed Type).				1

	Supply & providing point wiring from switch board to individual light, fan and 6A plug socket point with 1.1 KV. grade 3-single core 1.5sq.mm. multi strand copper conductor unsheathed FR PVC insulated wires in min. 20mm. dia bore heavy gauge rigid PVC conduit mostly laid in R.C slab and partly concealing of conduit in brick wall including cutting of brick wall and making good the damages. Supply and fixing of 16 SWG thick M.S. junction box, M.S. circular boxes with modular type switch, modular plate, suitable GI box, plug socket, board, switches, plug/socket cover plate, fan hooks etc. making connections, testing, etc. as required.  Light point/fan point wiring, one light /Fan				
a	controlled by one modular switch.	Nog	30	1015.00	30450.00
b	Light point wiring, group controlled by one modular	Nos.	30	1013.00	30430.00
	switch	Nos.	15	1562.00	23430.00
С	6Amp. 5 pin modular type combination socket				
	outlet and switch point mounted on switch board	Naa	25	477.00	11025.00
I-2	itself.  Point Wiring including concealed PVC Conduting:	Nos.	25	477.00	11925.00
1-2	Concealed power point wiring with PVC insulated				
	& unsheathed single core stranded Copper FR wires:				
a	Supply & fixing of power point wiring with 1.1 KV Grade unsheathed FR PVC insulated multi strand copper conductor wires of following sizes in 25mm Dia bore rigid PVC conduit including S&F of PVC conduit, bends, junction boxes & required accessories, mostly laid in RCC slab and partly concealing of conduit in brick wall including cutting of brick wall and making good the damages, making connections, testing etc. as required.  Power point wiring from MCB SDB to 16/6A				
	Socket outlet with 2 Nos. 1Cx4sq.mm. + 1 No. 1Cx4sqmm, rate being inclusive of consealed PVC conduiting with bends, junction boxes, etc. as required.	RM	60	334.00	20040.00
b	Power point wiring from 16/6A socket outlet to the adjacent 16/6A socket outlet with 2 nos 1Cx2.5 sqmm + 1 no 1Cx2.5sqmm. Rate inclusive of concealed PVC conduiting, bends, junction boxes etc. as required.	RM	80	275.00	22000.00
С	Supply and fixing of 1 no. of 6/16A combined modular type socket outlet with modular type switch incl. recessed mounted GI box, modular base, cover plate & all required materials including internal				
	connections and testing.	Nos.	15	586.00	8790.00
I-3	Light fittings, fans & Fixtures:				

b IX18 W LED TUBE LIGHT WALL MOUNTED LIGHTING FIXTURE.  c 6W LED FIXTURE SURFACE MOUNTED ON CEILING.  I-4 Supply of Ceiling Fans & Exhaust Fans:  a Supply of ceiling fan 1200 mm sweep BEE 5 star rated complete with double ball bearing, motor blades, down rods, canopy, capacitor etc.  b Supply 450 mm exhaust fans complete with louvers and provision of interconnections with suitable size of cables from the ceiling rose / connector, etc. including cutting holes of suitable size in walls and making good for fixing the exhaust fan complete as required. Complete as required. Complete as required (2 module) existing modular plate switch box including connections but excluding modular plate etc. as required.  Supplying and fixing Stepped type Modular Fan regulator (2 module) existing modular plate switch box including connections but excluding modular plate etc. as required.  Installation of Light Fittings, Ceiling Fans & Exhaust Fans:  ITC Light fitting directly on surface/ false ceiling:  Installation, testing and commissioning of prewired, fluorescent fitting of all types, complete with all accessories and tube/lamp etc. directly on ceiling/ wall, including connections with 1.5 sq. mm FRLS PVC insulated, copper conductor, single core cable and earthing etc. as required.  Installation, testing and commissioning of ceiling fan, including wiring the down rods of standard length (up-to 30 cm) with 1.5 sq. mm FRLS PVC		Supplying of following light fixtures complete with true-lite lamps, electronic ballast, lamp holder, etc. duly wired complete for use on 240V single phase 50 Hz AC supply including all fixing accessories such as suspension rods/mounting brackets etc. as required.				
LIGHTING FIXTURE.  c 6W LED FIXTURE SURFACE MOUNTED ON CEILING.  L-4 Supply of Ceiling Fans & Exhaust Fans:  a Supply of ceiling fan 1200 mm sweep BEE 5 star rated complete with double ball bearing, motor blades, down rods, canopy, capacitor etc.  b Supply 450 mm exhaust fans complete with louvers and provision of interconnections with suitable size of cables from the ceiling rose / connector, etc. including cutting holes of suitable size in walls and making good for fixing the exhaust fan complete as required. Complete as required.  Supplying and fixing Stepped type Modular Fan regulator (2 module) existing modular plate switch box including connections but excluding modular plate etc. as required.  Installation of Light Fittings, Ceiling Fans & ITC Light fitting directly on surface/ false ceiling:  Installation, testing and commissioning of prewired, fluorescent fitting of all types, complete with all accessories and tube/lamp etc. directly on ceiling/ wall, including connections with 1.5 sq. mm FRLS PVC insulated, copper conductor, single core cable and earthing etc. as required.  Location of Light Fittings of all types, complete with all accessories and tube/lamp etc. directly on ceiling/ wall, including connections with 1.5 sq. mm FRLS PVC insulated, copper conductor, single core cable and earthing etc. as required.  Location of Light Fittings of ceiling fan, including wiring the down rods of standard length (up-to 30 cm) with 1.5 sq. mm FRLS PVC	a	CEILING.(SIMILAR TO BAJAJ CAT NO.BGSLO Sleek surface 12 WH RD)	Each	10	1050.00	10500.00
C 6W LED FIXTURE SURFACE MOUNTED ON CEILING.  I.4 Supply of Ceiling Fans & Exhaust Fans:  a Supply of ceiling fan 1200 mm sweep BEE 5 star rated complete with double ball bearing, motor blades, down rods, canopy, capacitor etc.  b Supply 450 mm exhaust fans complete with louvers and provision of interconnections with suitable size of cables from the ceiling rose / connector, etc. including cutting holes of suitable size in walls and making good for fixing the exhaust fan complete as required. Complete as required.  5 S&F modular type electronic fan regulator:  Supplying and fixing Stepped type Modular Fan regulator (2 module) existing modular plate switch box including connections but excluding modular plate etc. as required.  Installation of Light Fittings, Ceiling Fans & Each 3 369.00 1107.00  Installation, testing and commissioning of prewired, fluorescent fitting of all types, complete with all accessories and tube/lamp etc. directly on ceiling/ wall, including connections with 1.5 sq. mm FRLS PVC insulated, copper conductor, single core cable and earthing etc. as required.  Installation, testing and commissioning of ceiling fan, including wiring the down rods of standard length (up-to 30 cm) with 1.5 sq. mm FRLS PVC	b		Each	9	850.00	7650.00
Supply of Ceiling Fans & Exhaust Fans:   a Supply of ceiling fan 1200 mm sweep BEE 5 star rated complete with double ball bearing, motor blades, down rods, canopy, capacitor etc.   Each   3   1932.00   5796.00     b Supply 450 mm exhaust fans complete with louvers and provision of interconnections with suitable size of cables from the ceiling rose / connector, etc. including cutting holes of suitable size in walls and making good for fixing the exhaust fan complete as required. Complete as required.   Each   1   4700.00   4700.00     5 S&F modular type electronic fan regulator:   Supplying and fixing Stepped type Modular Fan regulator (2 module) existing modular plate switch box including connections but excluding modular plate etc. as required.   Each   3   369.00   1107.00     Installation of Light Fittings, Ceiling Fans &   Each   3   369.00   1107.00     Installation, testing and commissioning of pre-wired, fluorescent fitting of all types, complete with all accessories and tube/lamp etc. directly on ceiling/ wall, including connections with 1.5 sq. mm FRLS PVC insulated,   Each   65   119.00   7735.00     Installation, testing and commissioning of ceiling fan, including wiring the down rods of standard length (up-to 30 cm) with 1.5 sq. mm FRLS PVC	С					
a Supply of ceiling fan 1200 mm sweep BEE 5 star rated complete with double ball bearing, motor blades, down rods, canopy, capacitor etc.  b Supply 450 mm exhaust fans complete with louvers and provision of interconnections with suitable size of cables from the ceiling rose / connector, etc. including cutting holes of suitable size in walls and making good for fixing the exhaust fan complete as required. Complete as required.  5 S&F modular type electronic fan regulator:  Supplying and fixing Stepped type Modular Fan regulator (2 module) existing modular plate switch box including connections but excluding modular plate etc. as required.  Installation of Light Fittings, Ceiling Fans & Exchaust Fans:  ITC Light fitting directly on surface/ false ceiling:  Installation, testing and commissioning of prewired, fluorescent fitting of all types, complete with all accessories and tube/lamp etc. directly on ceiling/ wall, including connections with 1.5 sq. mm FRLS PVC insulated, copper conductor, single core cable and earthing etc. as required.  Each 65 119.00 7735.00  I.7 ITC ceiling fan with cover on fan box:  Installation, testing and commissioning of ceiling fan, including wiring the down rods of standard length (up-to 30 cm) with 1.5 sq. mm FRLS PVC	I-4	Supply of Ceiling Fans & Exhaust Fans:	24011	1.5	1220.00	22220.00
and provision of interconnections with suitable size of cables from the ceiling rose / connector, etc. including cutting holes of suitable size in walls and making good for fixing the exhaust fan complete as required. Complete as required.  5 S&F modular type electronic fan regulator:  Supplying and fixing Stepped type Modular Fan regulator (2 module) existing modular plate switch box including connections but excluding modular plate etc. as required.  Each 3 369.00 1107.00  Installation of Light Fittings, Ceiling Fans & Exhaust Fans:  ITC Light fitting directly on surface/ false ceiling:  Installation, testing and commissioning of prewired, fluorescent fitting / compact fluorescent fitting of all types, complete with all accessories and tube/lamp etc. directly on ceiling/ wall, including connections with 1.5 sq. mm FRLS PVC insulated,  copper conductor, single core cable and earthing etc. as required.  Each 65 119.00 7735.00  Installation, testing and commissioning of ceiling fan, including wiring the down rods of standard length (up-to 30 cm) with 1.5 sq. mm FRLS PVC		rated complete with double ball bearing, motor	Each	3	1932.00	5796.00
S&F modular type electronic fan regulator:  Supplying and fixing Stepped type Modular Fan regulator (2 module) existing modular plate switch box including connections but excluding modular plate etc. as required.  Each 3 369.00 1107.00  Installation of Light Fittings, Ceiling Fans & Exhaust Fans:  ITC Light fitting directly on surface/ false ceiling:  Installation, testing and commissioning of prewired, fluorescent fitting of all types, complete with all accessories and tube/lamp etc. directly on ceiling/ wall, including connections with 1.5 sq. mm FRLS PVC insulated,  copper conductor, single core cable and earthing etc. as required.  Each 65 119.00 7735.00  ITC ceiling fan with cover on fan box:  Installation, testing and commissioning of ceiling fan, including wiring the down rods of standard length (up-to 30 cm) with 1.5 sq. mm FRLS PVC	b	and provision of interconnections with suitable size of cables from the ceiling rose / connector, etc. including cutting holes of suitable size in walls and making good for fixing the exhaust fan complete as	Each	1	4700.00	4700.00
regulator (2 module) existing modular plate switch box including connections but excluding modular plate etc. as required.  Each 3 369.00 1107.00  Installation of Light Fittings, Ceiling Fans & Exhaust Fans:  ITC Light fitting directly on surface/ false ceiling:  Installation, testing and commissioning of prewired, fluorescent fitting of all types, complete with all accessories and tube/lamp etc. directly on ceiling/ wall, including connections with 1.5 sq. mm FRLS PVC insulated,  copper conductor, single core cable and earthing etc. as required.  Each 65 119.00 7735.00  I-7 ITC ceiling fan with cover on fan box:  Installation, testing and commissioning of ceiling fan, including wiring the down rods of standard length (up-to 30 cm) with 1.5 sq. mm FRLS PVC	5					
I-6 Exhaust Fans:  ITC Light fitting directly on surface/ false ceiling:  Installation, testing and commissioning of prewired, fluorescent fitting / compact fluorescent fitting of all types, complete with all accessories and tube/lamp etc. directly on ceiling/ wall, including connections with 1.5 sq. mm FRLS PVC insulated,  copper conductor, single core cable and earthing etc. as required.  Each 65 119.00 7735.00  ITC ceiling fan with cover on fan box:  Installation, testing and commissioning of ceiling fan, including wiring the down rods of standard length (up-to 30 cm) with 1.5 sq. mm FRLS PVC		regulator (2 module) existing modular plate switch box including connections but excluding modular	Each	3	369.00	1107.00
Installation, testing and commissioning of prewired, fluorescent fitting of all types, complete with all accessories and tube/lamp etc. directly on ceiling/ wall, including connections with 1.5 sq. mm FRLS PVC insulated,  copper conductor, single core cable and earthing etc. as required.  Each 65 119.00 7735.00  Installation, testing and commissioning of ceiling fan, including wiring the down rods of standard length (up-to 30 cm) with 1.5 sq. mm FRLS PVC	I-6					
wired, fluorescent fitting / compact fluorescent fitting of all types, complete with all accessories and tube/lamp etc. directly on ceiling/ wall, including connections with 1.5 sq. mm FRLS PVC insulated,  copper conductor, single core cable and earthing etc. as required.  Each 65 119.00 7735.00  ITC ceiling fan with cover on fan box:  Installation, testing and commissioning of ceiling fan, including wiring the down rods of standard length (up-to 30 cm) with 1.5 sq. mm FRLS PVC		ITC Light fitting directly on surface/ false ceiling:				
as required.  Each 65 119.00 7735.00  I-7 ITC ceiling fan with cover on fan box:  Installation, testing and commissioning of ceiling fan, including wiring the down rods of standard length (up-to 30 cm) with 1.5 sq. mm FRLS PVC		wired, fluorescent fitting / compact fluorescent fitting of all types, complete with all accessories and tube/lamp etc. directly on ceiling/ wall, including connections with 1.5 sq. mm FRLS PVC insulated,				
Installation, testing and commissioning of ceiling fan, including wiring the down rods of standard length (up-to 30 cm) with 1.5 sq. mm FRLS PVC			Each	65	119 00	7735.00
Installation, testing and commissioning of ceiling fan, including wiring the down rods of standard length (up-to 30 cm) with 1.5 sq. mm FRLS PVC	I-7	ITC ceiling fan with cover on fan box:			117.00	7.22.00
required. Each 3 213.00 639.00		fan, including wiring the down rods of standard length (up-to 30 cm) with 1.5 sq. mm FRLS PVC insulated, copper conductor, single core cable etc. as	Each	3	213.00	639.00
I-8 ITC exhaust fan up-to 450mm sweep:	I-8	ITC exhaust fan up-to 450mm sweep:			-2.30	

	Installation of exhaust fan in the existing opening, including making good the damage, connection, testing, commissioning etc. as required.	Each	1	450.00	450.00
I-9	Fixing louvers / shutters for exhaust fan:	Lacii	1	+30.00	430.00
I-)	Extra for fixing the louvers/shutter complete with frame for exhaust fan of all sizes.	Each	1	207.00	207.00
I-10	Providing and fixing approved make ductable type toilet ventilation fans 230 V, 50Hz, minimum 800 CFM capacity. (makes Ostberg or equivalent)	Each	3	11428.00	34284.00
I-11	supply and fixing automatic electric hand dryer in ABS body Dolphy DAHD0012 or approved equivalent make/ model	Each	3	4208	12624.00
I-12	Providing and fixing storage type water heater (Jaquar ELENA (Vertial) 15 Ltr capacity or equivalent make)				
	-1	Each	2 T-4-1 -4	11811.00	23622.00
	a		1 otal o	f Part I Rs.	281299.00
	Summar		of Coatio	on 'A' Rs.	104022 12
				on 'B' Rs.	194033.13 662149.70
				on 'C' Rs.	568194.60
				on 'D' Rs.	233914.96
				on 'E' Rs.	278749.20
		Total	of Section	on 'F' Rs.	1645093.80
		Total o	f Section	n 'G' Rs.	149726.25
		Total o	f Section	on 'H' Rs.	512364.33
		Total	of Secti	on 'I' Rs.	281299.00
	Gross Total of Section A	+B+C+D+	E+F+G	+K+I Rs.	4525524.97
	Rounded Amou	nt with 18%	6 GST	& LC Rs.	4525525.00
	GENERAL ABSTRACT	OF COST			
1	Cost of Section A+B +C+D+E+F+G+K+I Rs.				3797218.47
2	GST As applicable @ 18%				683499.32
3	Cost of Section A+B +C+D+E+F+G+K+I excluding Labour welfare cess				4480717.79
4	Labour Cess @ 1%				44807.18
5	Cost of Section A+B+C+D+E+F+G+K+I		То	tal Da	4525524 07
	including (GST+ LC)	tal (inclusi		tal Rs.	4525524.97
	1	Jul (IIICIUSI	, C GD1,	, bay No.	4525525.00

# BANK DETAILS OF NATIONAL SCIENCE CENTRE, DELHI (For depositing EMD through Bank transfer, NEFT or RTGS)

Name of the Account Holder	NATIONAL SCIENCE CENTRE, DELHI
Account No.	2417101004100
Bank Name	CANARA BANK
Bank Address	6, Bhagwan Das Road, New Delhi
IFSC Code	CNRB0002417
MICR Code	110015045
Type of Account	Saving Account
Branch Code	2417

(Format for Declarations & Undertaking to be typed on bidder agency's letter head and to be submitted in Part –I (TECHNICAL ENVELOPE) of the e-tender document)

#### **DECLARATION -1**

This is to	certify that	neither	I/we/any	of us i	is in	anyway	related	to any	employee in	the
National (	Council of So	cience M	useums, I	Kolkata	a, or	any of it	ts consti	tuent u	nits.	

Date:	
Place:	(Signature of the tenderer) With company seal/rubber stamp
DECLARATION	-2
I/We hereby declare that I/we have not quoted any e (FINANCIAL ENVELOPE) of the e-tender.	extra condition along with the Part-II
Date:	(Signature of the tenderer) with company seal/rubber stamp
Place:	with company scariuover stamp
	~

#### **UNDERTAKING**

This is to certify that I/we have carefully gone through the drawings/specifications, etc. given in the e-tender document & have clearly understood the site working conditions, time schedule given and have accordingly quoted my balanced rates after going through all details.

I/We also undertake that the physical EMD instrument shall be deposited by me/us with the office of NATIONAL SCIENCE CENTRE, DELHI inviting the e-tender before the bid opening date otherwise the NATIONAL SCIENCE CENTRE, DELHI inviting the e-tender may reject the bid and also take action to withdraw my/our enlistment or debar me/us from further tendering in NCSM or its constituent units.

I/we hereby give an undertaking that I/we shall carryout the work strictly as per the given specifications, and shall complete the same within the stipulated time frame.

Date:	
Place:	
	(Signature of the tenderer/ bidder)
	With company seal/rubber stamp

Ref: Date:	DECLARATION
We, M	/s, hereby solemnly declare as
follows	s, in respect of the Tender No. :-
a)	That, we have downloaded all the documents from CPP e-Procurement Portal of NIC and all the uploaded information / statements are true to the best of our knowledge.
b)	That, our firm is not involved in any Litigation or Arbitration with NCSM/ National Science Centre, Delhi during the last 05 (five) years.
Date:	

Place:

(To be submitted on Agency's Letter head in the Portal as well as hard copy)

(Signature of the tenderer/ bidder) With company seal/rubber stamp

Tender No.----

### National Science Centre Near gate No. 4, Pragati Maidan Bhairon Marg, New Delhi – 110001 (A constituent unit of National Council of Science Museums)

#### **Bid Securing Declaration Form**

Date -----

I/We. The undersigned, declare that:
I/We undersigned that, according to your conditions, bids must be supported by a Bid Securing
Declaration.
I/We accept that I/We may be disqualified from bidding for any contract with you for a period
of one year from date of notification if I am/We are in a breach of any obligation under the bid
conditions, because I/We
a) have withdrawn/modified/amended, impairs or derogates from the tender, my/our Bid during the period of bid validity specified in the form of Bid; or
b) having been notified of the acceptance of our Bid by the purchaser during the period of bid validity (i)fail or refuse to execute the contract, if required, or (ii) fail
or refuse to furnish the performance Security, in accordance with the instructions to
bidders.
I/We undersigned this Bid Securing Declaration shall cease to be valid if I am/ we are not the
successful Bidder, upon the earlier of (i) the receipt of your notification of the name of the
successful Bidder; or (ii) thirty days after the expiration of the validity of my /our Bid.
Signed: (insert signature of person whose name and capacity are shown)  In the capacity of (insert legal capacity of person signing the Bid Securing Declaration)
in the capacity of (misert legal capacity of person signing the Bid Securing Declaration)
Name: (insert complete name of person signing he Bid Securing Declaration)
Duly authorized to sign the bid for an on behalf of (insert complete name of Bidder)
Dated onday of (insert date of signing)
Corporate Seal ( where appropriate)
(Note: In case of a Joint Venture, the Bid Securing Declaration must be in the name of all partners to the Joint Venture that submits the bid)

## TENDER ACCEPTANCE LETTER (To be given on Company Letter Head)

[Department User may ask for Tender Acceptance Letter instead of asking Signed Tender Document from the Bidders. This is a sample format; User may revise it as per their Tender Conditions]

	Date:
To,	
	Acceptance of Terms & Conditions of Tender.
Ten	der Reference No:
Nar	ne of Work:
Dea	r Sir,
1.	I/ We have downloaded / obtained the tender document(s) for the above mentioned ' Tender/Work' from the web site(s) namely:
	as per your advertisement, given in the above mentioned website(s).
2.	I / We hereby certify that I / we have read the entire terms and conditions of the tender documents from Page No to (including all documents like annexure(s), schedule(s), etc .,), which form part of the contract agreement and I / we shall abide hereby by the terms / conditions / clauses contained therein.
3.	The corrigendum(s) issued from time to time by your department/ organization too has also been taken into consideration, while submitting this acceptance letter.
4.	$I \ / \ We \ hereby \ unconditionally \ accept \ the \ tender \ conditions \ of \ above \ mentioned \ tender \ document(s) \ / \ corrigendum(s) \ in \ its \ totality \ / \ entirety.$
5.	I / We do hereby declare that our Firm has not been blacklisted/ debarred by any Govt. Department/Public sector undertaking.
6.	I / We certify that all information furnished by our Firm is true & correct and in the event that the information is found to be incorrect/untrue or found violated, then your department/ organization shall without giving any notice or reason therefore or summarily reject the bid or terminate the contract, without prejudice to any other rights or remedy including the forfeiture of the full said earnest money deposit absolutely.  Yours faithfully,
	(Signature of the tenderer/ bidder) With company seal/rubber stamp

Date -----

# National Science Centre Near gate No. 4, Pragati Maidan Bhairon Marg, New Delhi – 110001 (A constituent unit of National Council of Science Museums)

## Undertaking for Certification of Quoted Rates and Quality Assurance by Tenderer.

Tender No				
I/We, the undersigned, hereby declare and certify that the rates quoted in this tender are based on an in-depth estimation and a thorough cost analysis of each item listed in the scope of work.				
I/We have conducted a comprehensive review of the requirements, specifications, and conditions of the tender and confirm that all factors have been accounted for in our pricing. I/We assure that there shall be no compromise in the quality of materials, workmanship, or any aspect of the work being tendered.				
I/We further declare that the proposed rates are fair, reasonable, and we will execute & complete the work to the highest standards expected, as per the tender documents and specifications provided.				
Signature of the tenderer/bidder				
With company seal/rubber stamp:				
Date:				
Place:				